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Question Number : 1 Question Id : 5406267240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

FED, IHG, LKJ, ONM, ?
Options :
1. = MKJ
2. % VUT
3. * CBA
4. ¥ RQP

Question Number : 1 Question Id : 5406267240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau U fypeat 7 § Aot & g 31eR T PRI

FED, IHG, LKJ, ONM, ?
Options :
1. % MKJ
2. % VUT
3. % CBA
4. ¥ RQP

Question Number : 2 Question Id : 5406267241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given words, select the word which cannot be formed using the letters of the given word.

LATCHING
Options :

1. % THING
2. % CHAIN
3. ¥ CHEAT
4. % CLING

Question Number : 2 Question Id : 5406267241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed fasmedl & § 98 e 1T Sl fAT 71U Xsd o 31&RT b1 TART HRob Tgi ST Sl Febell |

LATCHING
Options :

1. # THING
2. % CHAIN
3. % CHEAT




4. *= CLING

Question Number : 3 Question Id : 5406267242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

SCD, TEF, UGH, ?, WKL
Options :

1. ¥ VI

2. % VIl

3. #* CMN

4. %= UJI

Question Number : 3 Question Id : 5406267242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e faemedt & T 90ft § g 31eR Y 1 I

SCD, TEF, UGH, ?, WKL
Options :

1. ¥ VI

2. % VIJI

3. * CMN

4. %= Ul

Question Number : 4 Question Id : 5406267243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An ‘Island’ is related to ‘Sea’ in the same way as an ‘Oasis’ is related to:
Options :

1. ®* Water

2. % Illusion



3. % Pond
4. ¥ Desert

Question Number : 4 Question Id : 5406267243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF g0, or TR T ¥ e&fdd g1 8, I YR e Yaferd giar 3:
Options :

1. % g g

2. % YAy

3. % dlcfld

4. I[AFEA

Question Number : 5 Question Id : 5406267244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Psychology : Human being : : Ornithology : ?
Options :

1. ¥ Birds

2. % Volcanoes

3. * Insects

4. % Reptiles

Question Number : 5 Question Id : 5406267244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7t fasedt & O Hefdd Trsg &1 giAT|
s pIaron : A ; : A : 2

Options :



1. ¢ geft

2. % ST
3. % Plo-HADIS
4. % WU

Question Number : 6 Question Id : 5406267245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Star : Telescope : : Virus : ?
Options :

1. # Periscope

2. ¥ Microscope

3. # Deck

4. ¥ Gyroscope

Question Number : 6 Question Id : 5406267245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

few M faorea A ¥ THeifid Wsg ®1 gl
W:W::m:?
Options :

1. % gRexf
2. ¢ gerexif
3. % SH

4. % gurieraif

Question Number : 7 Question Id : 5406267246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the related word from the given alternatives.

Money : Poverty : : Education : ?
Options :

1. # Knowledge

2. % Greediness

3. % Illiteracy

4. % Unsuccess

Question Number : 7 Question Id : 5406267246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7t fasedt & O Hefdd Tsg o1 giAT|
¢ : Fedar . e 2

Options :

1. % 3

2. % dleld

3. ¢ fReRan
4, ® pAdl

Question Number : 8 Question Id : 5406267247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

WVT :SRP::MLJ:?
Options :

1. # KHG

2. % [HG

3. % [HF

4. # HEF



Question Number : 8 Question Id : 5406267247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7T fawmedl O 9§ Hafdd sierf &1 gHu|
WVT :SRP::MLJ:?

Options :

1. * KHG

2. % [HG

3. ¥ [HF

4. % HEF

Question Number : 9 Question Id : 5406267248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

CDF:GHJ::KLN:
Options :
1. ¥ OPR
2. % VHF
3. * YFD
4. = EDU

Question Number : 9 Question Id : 5406267248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e faswedl & I dafiq sert o1 gl
CDF : GHJ: : KLN:

Options :

1. ¥ OPR

2. % VHF



3. ®* YFD
4. = EDU

Question Number : 10 Question Id : 5406267249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related letters from the given alternatives.

BLX:GR::HNV:?
Options :

1. ¥ KR

2. % LQ

3. % RK

4. % JS

Question Number : 10 Question Id : 5406267249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U U fawedl § T Gaferd 3feri o1 g9+ Hiforg|

BLX:GR::HNV:?
Options :

1. ¥ KR

2. % LQ

3. % RK

4. * JS

Question Number : 11 Question Id : 5406267250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code MISTAKEN is written as NJTUBLFO. How is GROUNDED written in that code?
Options :

1. ¥ CDCMTNQF



2. % TNQFCDCM
3. ¥ EFEOTNQF
4. ¥ HSPVOEFE

Question Number : 11 Question Id : 5406267250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAf¥d e § MISTAKEN &1 NJITUBLFO foraT SiTa 8 | 39 % # GROUNDED ! fohg U&R ferd
Options :

1. # CDCMTNQF

2. % TNQFCDCM

3. # EFEOTNQF

4. ¥ HSPVOEFE

Question Number : 12 Question Id : 5406267251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If pen is called pencil, pencil is called eraser, eraser is called paper and paper is called ink in a certain coded language, then what do we write on?
Options :

1. # Paper

2. % Pen

3. % Pencil

4. ¥ Ink

Question Number : 12 Question Id : 5406267251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g forft FfYd e U 8, ‘wam oI U &gl o1l &, URIT & Y9 FeI S, 63 B “BRTST Hel olldl 8, ‘BRI DI el
I oI & ot g1 fgfofad # forg R foraa 82

Options :

1. % BT

2. % hH




3. % OfRd
4. ¥ WTgl

Question Number : 13 Question Id : 5406267252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If B is coded as 8, F is coded as 6, Q is coded as 4, D is coded as 7, T is coded as 2, M is coded as 3, and K is coded as 5, then what is the coded
form of QKTBFM?

Options :

1. % 452683
2. % 472683
3. % 452783
4, ¥ 452863

Question Number : 13 Question Id : 5406267252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GBI S BcdTRAG, FHI 6 BCA P §, QDI 4 BICA B § , D Bl 7 Hicd R &, T B 2 Hicd HRd &, M Bl 3 Hfed Hd &, 3R
K &1 5 Bfed B §, dl QKTBEM &1 Hicd U &l 82

Options :

1. % 452683

2. % 472683

3. % 452783

4. % 452863

Question Number : 14 Question Id : 5406267253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “ASPIRE” is coded as “ZBRTOQHJQSDF” in a certain coded language, then how will “TARGET” be coded in the same language?
Options :

1. # SUBCSRIHDFSU

2. % SUBSCIRHDFSU



3. ¥ SUZBQSFHDFSU
4. % SUCDQSFHDFSU

Question Number : 14 Question Id : 5406267253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forft Ff8d e U1 H, “ASPIRE” @1 “ZBRTOQHJQSDF” & &0 ¥ fordT oifdT g, df 3¢ Foe U1 H, “TARGET” &) fohdl TR fora Simem?
Options :

1. ¥ SUBCSRIHDFSU

2. % SUBSCIRHDFSU

3. ¥ SUZBQSFHDFSU

4. % SUCDQSFHDFSU

Question Number : 15 Question Id : 5406267254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys A, B, C, D and E sit in a row, not necessarily in the same order. D is equidistant from B and C and is also equidistant from E and A. If
E is equidistant from B and D, then who sits to the immediate left of E?

Options :

1.* B

2.%D

3.% A

4. ¥ Either B or D

Question Number : 15 Question Id : 5406267254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui @S A, B, C, D 3R E T Ufad & 93d 8, T el fh S HAA G D, B AR C A IAH A W@ 3R E 3R A F A @ R 3
I E, B@TD@[W@W% dl E & Adpeadf a1 &1 daa1 82

Options :

.%B

2. %D




3% A
4. I BIAID

Question Number : 16 Question Id : 5406267255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ is taller than ‘B’. ‘C’ is shorter than ‘D’ and ‘B’ is taller than ‘C’ and 'D', then who is the shortest among these four?
Options :

1. % A

2. % B

3. D

4. ¥ C

Question Number : 16 Question Id : 5406267255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A, B A dGI 1 'C, 'D Y BIeT g 3R B!, 'C' TUT'D' ¥ a5, dl 3 IR & a4 BT M 52
Options :

1. % A

2. % B

3. D

4. ¥ C

Question Number : 17 Question Id : 5406267256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students - A, B, C, D and E entered the classroom at five different timings, not necessarily in the same order. B entered before D but after E.
C entered after B but before A. D is not the last person to enter, then who is the last person to enter into the class?

Options :
1. % C
2.%D
3.9 A



4. % B

Question Number : 17 Question Id : 5406267256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U BT - A, B, C, D 3R E 3 Ui -3 THY UR & & YR fhar, SRest 78] {6 3 pH H 811 B 7 D W Ugd A E & &I Jaw
fBaTl C, B & 91 Afth A T U UAW Rl & | D YA B3+ aran 3ifad safad 8t & fhe e & vawr s areln sifaw safad o 82
Options :

1. % C

2. %D

3.¥ A

4. % B

Question Number : 18 Question Id : 5406267257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are 23 girls in a row. The position of the girl at the middle is 12t from the beginning. What will be the position of that girl from the end?
Options :

1. % p1th

2. ¢ 12t

3. % 13t

4. % 1ot

Question Number : 18 Question Id : 5406267257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Ui H 23 ISPl 3| Th dsd! ol A H g ST WM URH F 127 3, df 3fd T BT R T g2
Options :

1. % 114l

2. ¢ 12d1

3. % 139



4, % 10d]

Question Number : 19 Question Id : 5406267258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a family of six persons with one couple, P is married to R and is father of O. R has two children and is sister-in-law of A. A is brother of P and
a male member in the family. S, who is son of R has a maternal uncle. If Z is maternal uncle of O, then how S is related to Z?

Options :

1. ¥ Nephew

2. * Brother-in-law
3. * Father

4. % Son-in-law

Question Number : 19 Question Id : 5406267258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3¢ dAfaqdl & URIR H, T [AaiRa ST &1 P HI A R UGN E MR TGO BIUAR I RF A THAE ARTBA DI U B | A, PHTHTS
g AR Y TCH Gl S, MR FBIYA B, & TP A ¢ | IS Z, 0 BIAMI G, A1 S, Z I [ ¥ TR Faiferd g2

Options :

1. & YISl

2. % el

3. % fuar

4. % qMHIq

Question Number : 20 Question Id : 5406267259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are three statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
Some cars are wheels.
All wheels are branches.



Some branches are tins.

Conclusions:
I. Some cars are branches.
II. Some tins are branches.

Options :

1. # Only Conclusion I follows

2. % Only Conclusion II follows

3. # Either Conclusion I or II follows
4. ¥ Both Conclusions I and II follow

Question Number : 20 Question Id : 5406267259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 fu 7T v & 9 FY 3R IUF 91 5 fhy AT T 1 3muen! fou Y i Sy ol I AT | YAl 81 9 IdFTd aui ¥ = Ui
gIa g1 1 it sl ! ufgu bR 0 wifer fo fou e sl & § S 91 aheiTd 30 T 3IR0I Rd1 §, I8 Jd1d 9 $o i 8l

HY:

$8 BR, IRU T

Tt ufg, Siferai |

5O Siferr, feT B

fsem:

I. $© BR, STl g |

11. $3 fom7, siferai 1

Options :

1. % Had (s [ 3IER0 HRT §
2. % P DY [1 STIRV BT §
3. % 7 fAeme 1 37 11 SR Rl §
4. G FTSHY 1 SR 11 SFR0T &l §

Mental Ability2



Group Number : 2

Group Id : 540626223
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 540626302
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626351
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5406267260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by three conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
All rats are cars.
All cars are tiger.



Conclusions:

I. Some rats are tigers.
I1. All tigers are rats.
III. Some cars are rats.

Options :

1. # Only Conclusion I follows

2. % Only Conclusion III follows

3. # Only Conclusion I and IT follow
4. % Only Conclusion I and III follow

Question Number : 21 Question Id : 5406267260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U U U=A B & S 3R I a1 i s fau 7 § 1 3ues! fau 18 il U=l & I AT § M &) d IdRTd gl § e ol
gid gi | it s 1 ufgu fihr 0 wifre fob fou e el & § S 91 dheiTd 39 I 3ERUI 1 §, 918 d31d 9 $ i gl

hY:
T 98, FR T
T R, I B

.

. $6 98, STA g |
1. 9t 919, 98 € |

1. $& ®R, IR ¢ |

Options :

1. % $Had [T5HY [ 3IERV Hl §

2. % Had By 111 3IIRU Hl §

3. % PHad FT5HY [ 3R 11 SR Hal §
4.« Had Y 1 3R 111 STTROT Rl §

Question Number : 22 Question Id : 5406267261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correct combination of mathematical signs to replace * signs and to balance the given equation.

8*¥6*96*2=0
Options :
1. % x+—
2.% x _+
3% —x =+

4. %+ _x

Question Number : 22 Question Id : 5406267261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

+ gl @1 g & g ofR fou U gefieur &1 Tferd e & fore o dovdl & Tet SarsH &1 994 Sifor|

8*6*96*2=0
Options :
1. % x+—
2.% x _+
3.% —x =+

4, % +_x

Question Number : 23 Question Id : 5406267262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

0,2,6,?, 20,30
Options :

1. ® 10

2. % 11

3.9 12

4. % 14



Question Number : 23 Question Id : 5406267262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< mft 9oft & qa T=m 31 S|

0,2,6,?, 20,30
Options :

1. * 10

2.% 11

3.¥ 12

4. % 14

Question Number : 24 Question Id : 5406267263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in a series given below.

4,9, 20,43, 90,?
Options :
1. % 180
2. % 182
3. % 179
4.+ 185

Question Number : 24 Question Id : 5406267263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et &t Tt 9oft 7 o ke Id Fifom|

4,9,20,43,90,?
Options :
1. # 180
2. % 182



3. % 179
4.4 185

Question Number : 25 Question Id : 5406267264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged in the following equation to make it correct?

12-6+12x6+6=9
Options :

I. # +and x

2. % +and +

3.% —and +

4. % xand +

Question Number : 25 Question Id : 5406267264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFuferRad gHieRu & T8t e & forw foea ) Fagl &) 3o Sedr ST g u?

12-6+12x6+6=9
Options :

1. % + 3R x
2. % £ 3R+
3.9 3R+
4. % x 3R +

Question Number : 26 Question Id : 5406267265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

113:50::146:7?



Options :
1. % 160
2.9 110
3. % 220
4. % 120

Question Number : 26 Question Id : 5406267265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad us o fou e fawed § ¥ gafid e & g

113:50::146:7?
Options :
1. # 160
2.¥ 110
3. % 220
4. % 120

Question Number : 27 Question Id : 5406267266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of (?) in the figure given below.

84 |21 ] 105

280 | ? 126
145 | 29 | 232

Options :
1.¥ 14
2. % 21
3. % 26
4, % 29



Question Number : 27 Question Id : 5406267266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 &t TR Sipfa T (2) & R UR 1 T

84 |21 | 105

280 | ? 126
145 | 29 | 232

Options :
1.¥ 14
2. % 21
3. % 26
4, % 29

Question Number : 28 Question Id : 5406267267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one of the following diagram represent the relationship between students, singers and dancers?
Options :



3.¢

® &

Question Number : 28 Question Id : 5406267267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 T ¥ o @ IR sewfa, faenfial, et SR Ta®! & e We= &1 G 82

Options :

& ©® €9

3. ¢



©

Question Number : 29 Question Id : 5406267268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a group of 40 players, some play cricket, some play football and some both. If 30 play cricket and 20 both, then which of the following is the
correct way of representing the Venn diagram?

Options :

A
)

3.¢

9




Question Number : 29 Question Id : 5406267268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
40 FEATSTl & U THE H, 3 fhdhe Wad &, $ Peald Wad & 3R $S aiH1| Tfe 30 fhde Wad g 8 20 &1, A A A I S A A=
3R P! el alioh Y Gl 82

Options :

.
2. % @?@
@
@

Question Number : 30 Question Id : 5406267269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man from a point, walks 4 miles north, turns to his right and walks 2 miles, again turns to his right and walks 2 miles, again turns to his right
and walks 2 miles. In which direction would he be now from the starting position?

Options :



1. ¥ North
2. * South
3. % East

4. % West

Question Number : 30 Question Id : 5406267269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foig I T 31, 4 Wi SR BT 3R AT 8, 397 g1t 3R G3d1 § 3R 2 Wit gerdr g, iR 1 3iuA grfight Sk gear g 8k 2 Hia
Il 7, fR T (U= aIfe-T 3R a1 § 8k 2 Hid I Iaa g | 98 31U+t URfYe fufa 9 fora fe=m & 82

Options :

1. ¢ JW

2. % Gfé&for

3. % Ud

4. % i3y

Question Number : 31 Question Id : 5406267270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tom walked 10 miles from point P towards the East. He then took right turn and walked 5 miles and taking another right turn walked again for
another 5 miles. In which direction is point P from the point where Tom is standing now?

Options :
1. #* West
2. ¥ North-West
3. # North-East

4. # Can't be determined

Question Number : 31 Question Id : 5406267270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fag P A gd &t SR 10 Hid gaar 31 98 fFR ST g3 § 8k 5 Hidt Iadl § 3R SR g 3T § 3R 5 Hid gaar g1 <M, S fag R
gs1e, Sud fog pfpafean &gy




Options :

1. % i3y

2. ¢ IR-UEH

3. % IaR-d

4. % J1d gl fHa1 ST qhell

Question Number : 32 Question Id : 5406267271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Naveen walks 20 m towards east. He then turns left and walks 10 metres. He again turns left and walks 20 metres. How far is he from his starting
point?

Options :

1. ¥ 10 metres

2. % 50 metres

3. # 40 metres

4, % 30 metres

Question Number : 32 Question Id : 5406267271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T gd 1 3R 20 Hex Iaar g | fhr 9 a8 gsar § aut 10 Hiex Iadr g | 98 iR 3 a1 gsaT 8 aut 20 Hiex Iadr g1 98 U 3T
fig I farat R B2

Options :

1. ¥ 10 HIeR

2. % 50 HIeR

3. % 40 HlR

4. % 30 AR

Question Number : 33 Question Id : 5406267272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person starts walking from point P in north direction. After walking 4 m he turned right and walked for 3 m. He then turned right and walked



for 6 m. He then turned right and walked for 5 m. He then turned left and walked for 4 m. He again turned left and walked for 2 m and stopped at
point Q. What is the direction of point Q with respect to point P?

Options :

1. * North-east
2. % East

3. % West

4. ¥ South

Question Number : 33 Question Id : 5406267272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afad foig P U IR =M B 3R I Y& xdl ¢ | 4 Hiex Ia- & d1G, I8 &T5 3R Sl & IR 3 Hex Iadl 5| 98 i 318 3R gsar
8 3R ¢ Hiex Iadr 3| 98 fR a1% 3R gea1 g 3R 5 Hiex gadi 81 98 fR 918 3R 43T § 3fR 4 Hiex Iadr ¢ | 98 fhr 18 3R g&dT @
3R 2 Hiex Iadr § 3R fdg Q R 3@ irar g | foig p & wraw # fofg 1 fa=m 82

Options :

1. # IWR-gd

2. % Qg

3. % U3y

4. IR

Question Number : 34 Question Id : 5406267273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



Question figure:

Options :

3. ¢

Question Number : 34 Question Id : 5406267273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



DHIF-T IR MBI, TY 3P & Ued DI G-I B
g TPiar:

Options :

3. ¢

Question Number : 35 Question Id : 5406267274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In the question given below, which one of the four answer figures should come after the question figures on the right, if the sequence were
continued.

Question figure:

® 11 OO OO0 e
o Oe of eo 1
1 2 3 4 5
Options :
® O
I.WO T

2. %
o 1
3. % S
® 1
v 10 O

Question Number : 35 Question Id : 5406267274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i fAU MU Uy O, IR IR BTl T QT UY 3HThid b T 3HThid b 916 3111 8T, Tl SIhd Bl §RY &1 S|
¥od JHTHia:

® MM OO OO e

o Oe o e 1

1 2 3 4 5
Options :
® O
1. % Q T
@
i
2. %
o 1
O @
3. %
e 1
Lo o0

Question Number : 36 Question Id : 5406267275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the question, select the related figure from the given alternatives.

Question figure:

\E/ All @ 2
1 2 3 4

Options :

g [©

2. ®
&)

3. ®

L9

Question Number : 36 Question Id : 5406267275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gy o, fou Tt fowedl O T W&l sipfa o1 9g Sifoe|

L Q)| 2

L]
2. %

&)
3. %
N

Question Number : 37 Question Id : 5406267276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, find the answer figure in which question figure is embedded.



Question figure:

7

Options :

1.33/

3. ®

4.

Question Number : 37 Question Id : 5406267276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEfIRad Uy &, 39 SR 3P DI J1d DIoTT FoTaH Uy Pl Ifafed gl



g HFA:

%

Options :

1.23/

3. %

4.

Question Number : 38 Question Id : 5406267277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figure is the right image of the given figure?



Question figure:

A
%Hi:-:tur*,r <3>

B
Options :

T
IoT—
J—
JET—"

Question Number : 38 Question Id : 5406267277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i I\ AB TR T SUUT IGT STl 5, o SR o= # 9 feu 77w fom o1 9t fem i ang?




g9 HTFIc:
A
%Histurv <"}-

B
Options :

To—
Jovistors 4
T—
Tam—-

Question Number : 39 Question Id : 5406267278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are present in the following figure?



Options :
1.¥5
2.%3
3.% 6
4, % 8

Question Number : 39 Question Id : 5406267278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa snefa & feam By 82

Options :
1.¥5
2.% 3
3.% 6
4. % 8

Question Number : 40 Question Id : 5406267279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened.



Question figure:

Options :

1. ¢

Question Number : 40 Question Id : 5406267279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ty Tt & faaTy 1T SR ST &1 U g el TeT g3 § SR R SUH ©¢ fohdl 71 § | 1T 1 Wia & §Ig 98 ol Q@ i
TR ATFHA:

i




Options :

1. ¢

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

General Awarenessl

3
540626224
0

0

No

No

0

20

No

General Awarenessl



Section Id : 540626303

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626352
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5406267280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following places was also known as Kakanaya in the ancient times and has many monuments important for the Buddhists?
Options :

1. # Sarnath

2. % Sanchi

3. % Gaya

4. % Khajuraho

Question Number : 41 Question Id : 5406267280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 forg wM &1 U= o1 & S1emmn & A9 § o ST ST o7 3R T8 digl o (o8 8 Ag@yUl 9IRS ]2
Options :

1. # gRAN™Y

2. Al

3. % 1]

4. % TR




Question Number : 42 Question Id : 5406267281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dance-forms has been revitalised as a result of Mughal influence on Indian culture?
Options :

1. # Kathakali

2. ¥ Kathak

3. % QOdissi

4. % Kuchipudi

Question Number : 42 Question Id : 5406267281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & @ ST T HRAT WRPHfA R J1a guTa § faswRa gang?
Options :

1. % HYPHl

3. % ol
1% pRgd

Question Number : 43 Question Id : 5406267282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places is the Chaturprahar Music Festival organised annually?
Options :

1. # Goa

2. ® Prayagraj

3. ® Varanasi

4. ¥ Mumbai

Question Number : 43 Question Id : 5406267282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fraferRed # @ fora @ TR Uftas TquieR Iiid 9HRIE Sl fbar S g2

Options :

1. % Tar

Question Number : 44 Question Id : 5406267283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following musical instruments is Ustad Bismillah Khan famous?
Options :

1. % Sitar

2. % Sarod

3. ¥ Shehnai

4. # Sarangi

Question Number : 44 Question Id : 5406267283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied # 3 foa areds & for e fafee @ Ul &
Options :

1. * RdR

2. % WG

3. ¥ REE

4. % Rl

Question Number : 45 Question Id : 5406267284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In which of the following states is Champaner-Pavagadh Archaeological Park situated?
Options :

1. # Punjab

2. ¥ Gujarat

3. # Bihar

4. #® Jharkhand

Question Number : 45 Question Id : 5406267284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUR-UTATTG QRIdd Ureh fafoiad & & forg oa § fRud 82
Options :

1. % U9

2. ¢ ISRId

3. % fogR

4, % FRYUVS

Question Number : 46 Question Id : 5406267285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which of the following is the KUSUM scheme of the Central Government related to?
Options :

1. ¥ Solar-powered irrigation

2. # Subsidies on fertilisers

3. % Electricity outreach to villages

4. % Skill development

Question Number : 46 Question Id : 5406267285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&% RHR B Y Ao Hafeed & I forads wry defid g2

Options :




1. ¢ AR Sl 9 I arel R
2. % IR® W eyl

3. % gl deb foorall ggar

4. % P AT

Question Number : 47 Question Id : 5406267286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Union Budget 2021, by which year does the National Rail Plan aim to develop adequate rail infrastructure to cater to the projected
traffic requirements up to 20507

Options :
1. % 2027
2. % 2029
3.9 2030
4. % 2032

Question Number : 47 Question Id : 5406267286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a’o—sﬁagazfzozl%:Ferlfmw,maﬁwmwzﬂwma&u2osowﬁuaﬁﬁéﬁmaﬁwmﬁ$mmfﬁwWﬁﬁa
FRATG?

Options :

1. % 2027

2. % 2029

3. ¢ 2030

4. % 2032

Question Number : 48 Question Id : 5406267287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Granting special status to industries like Navaratnas, Maharatnas, Miniratnas are suggestive of which of the following practices by the Indian
Government?



Options :

1. # Liberalisation
2. ¥ Privatisation
3. % Globalisation

4. % Liberalisation and Globalisation both

Question Number : 48 Question Id : 5406267287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TId, AR, fAfRa O I o1 faRiy guif 31, HRd R & Fufafad # 3 fg uur &1 ddd 82
Options :

1. % JQRIBRUI

2. ¢ fASiieBRum

3. % gl

4. % IERIGR 3R IfHR0T

Question Number : 49 Question Id : 5406267288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following banks has recently been merged with DBS Bank?
Options :

1. ¥ Lakshmi Vilas Bank

2. % PayTM Bank

3. # India Post Payments Bank

4. ¥ Bandhan Bank

Question Number : 49 Question Id : 5406267288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Foffad 7 @ foa do &1 810 81 § Sleiley oo H faer gsi g2

Options :



1. ¢ qet faam d&

2. % 9dug §o

3. % YRAW 1% YTdH §db
4. % gy I

Question Number : 50 Question Id : 5406267289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists had discovered the value of the universal gravitation constant?
Options :

1. #* Joseph Priestly

2. ¥ Henry Cavendish

3. % Issac Newton

4. % Joseph Black

Question Number : 50 Question Id : 5406267289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 forg amfae 3 Sek® Todig fRRIE & A &1 31d foeam
Options :

1. % So fiRed

2. ¢ BRI Hafew

3. % 3o YA

4. % SN <D

Question Number : 51 Question Id : 5406267290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following body-organs is affected by Japanese Encephalitis?
Options :

1. % Bones



2. % Kidneys
3. % Brains
4. % Heart

Question Number : 51 Question Id : 5406267290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofefad 7 3 &1 91 TRR &1 o U SAB ez § gHifad gl g2

Options :

Question Number : 52 Question Id : 5406267291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following group of plants is the plant-body differentiated into roots, stem and leaves and has specialised tissue for the conduction
of water?

Options :

1. % Plantac

2. % Thallophyta
3. ¥ Pteridophyta
4. ® Bryophyta

Question Number : 52 Question Id : 5406267291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for avf o Uielf 1 TRR &1, a1 Ut gt & fauiford giar 8 iR 378 IR & T U A gIR U ddh ofd adT 39 Uerf & Yagd & fa
Tag Sk W U oi1d 22
Options :

1. % w@idt



2. % YATpISel
3. ¢ RASImral
4. % FATBIZCT

Question Number : 53 Question Id : 5406267292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an athlete is running, then in which of the following tracks shape will his velocity changes continuously even though the magnitude remains
the same?

Options :

1. # Square shaped track

2. # Hexagonal shaped track
3. % Octagonal shaped track
4. ¥ Circular track

Question Number : 53 Question Id : 5406267292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T1 T TURTE U o6 TY (&) TR A1 61 81, T U T 1 SR G =TS e 1 371 o UfReATor it =1 e, TR 16 71 a6t ferem
TR dlqeldl Wild?

Options :

1. # LR UY

2. % VPV Y

Question Number : 54 Question Id : 5406267293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which group of animalia are jellyfish and sea anemones common examples of?
Options :

1. ¥ Coelenterata



2. % Porifera
3. % Annelida
4. % Nematoda

Question Number : 54 Question Id : 5406267293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR 3R T T, TR avf & Y Sudi & IRl 82

Options :

1. ¢ Ryeeen
2. % OIRWRT
3. % THifersT
4. % fAOcIS

Question Number : 55 Question Id : 5406267294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a copper vessel is exposed to moist air for long, it acquires a dull coating. What is the colour of that coating?
Options :

1. # Red

2. ¥ White

3. ¥ Green

4. % Brown

Question Number : 55 Question Id : 5406267294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O HIOR P Tl B! A T q 71 TG H a1 34T ST ¢ al 39 TR U §ah! R ST F STt & | T8 IR fhd 31 1 gielt &2
Options :

1. % ol

2. % ghg



3.¥ 8
4, % W@

Question Number : 56 Question Id : 5406267295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many maximum number of naturally occuring elements are there on the earth?
Options :

1. = 87

2. % 90

3.9 94

4. % 102

Question Number : 56 Question Id : 5406267295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g2dl R Wi ©0 J Sifdad fasan I urg Sd 82
Options :

1. = 87

2.% 90

3.¥ 94

4. % 102

Question Number : 57 Question Id : 5406267296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Great Himalayan range, the valleys are mostly inhabited by which nomadic group?
Options :

1. * Bhil

2. ¥ Bhotia

3. % Saka

4. % Maasai



Question Number : 57 Question Id : 5406267296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I frTerT Yol @1 ifedl # SR BIar WHEE J9g Narg &d1 82
Options :

1. % e

2. ¢ ifean

3. % Yl

4. % TS

Question Number : 58 Question Id : 5406267297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Eastern Hills and Mountain system has their general alignment in which direction?
Options :

1. # East to west

2. # West to East

3. % North to south

4. # South to North

Question Number : 58 Question Id : 5406267297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gdf ugifedl SR UddIg YUITel! T 39T FTH=g TR ford fa=m & g2
Options :

1. ® g4 9 Uiy

2. % UMY YA

3. ¢ IR Y Efar

4. % TEUTY IR



Question Number : 59 Question Id : 5406267298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following river is the largest tributary of the Indus?
Options :

1. * Beas

2. # Ravi

3. % Satlyj

4. ¥ Chenab

Question Number : 59 Question Id : 5406267298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad afeal & @ o I Riy &1 999 98! T 7! 82
Options :

1. % ™

2. % Tfd

3. % gdqel

4. ¢ fT9

Question Number : 60 Question Id : 5406267299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of soil the result of intense leaching due to tropical rains?
Options :

1. ¥ Laterite Soil

2. % Red soil

3. #® Yellow soil

4. % Black Soil

Question Number : 60 Question Id : 5406267299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fora UpR 1 gt fig Iwr wieseh auf & eror gu dg Ferad o1 alkomg 822

Options :

1. ¢ IC0SC Hal
2. % dlcl Hal
3. % Oidl gar
4. % DIdl gal
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5406267300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following countires are separated by India through Gulf of Mannar?
Options :

1. % Maldives

2. % Sri Lanka

3. ¥ Myanmar

4. % Nepal

Question Number : 61 Question Id : 5406267300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed &  SI91 <X HRA ¥ HAR & WIS F ST g3 82
Options :

1. % A

2. ¢ didiob1

3. % WHEAR

4. % 9OTA

Question Number : 62 Question Id : 5406267301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are not a species of Tropical Thorn Forest?
Options :

1. % Babool

2. % Ber

3. ¥ Neem

4. ¥ Hura



Question Number : 62 Question Id : 5406267301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofafed & 9 S yeifa I Sl HicaR 91 31 gl o7
Options :

1. % d4d

2. % W

3. % A

4. I

Question Number : 63 Question Id : 5406267302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following places was Gautam Buddha born?
Options :

1. ¥ Lumbini

2. % Kapilavastu

3. # QGaya

4. % Sarnath

Question Number : 63 Question Id : 5406267302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MY §g &1 o FyfaRad 3§ § fog - & gen un
Options :

1. ¢ qftat

2. % HIUTaY]

3.% 7]

4, % R

Question Number : 64 Question Id : 5406267303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did Alexander invade India?
Options :

1. % 332 BC

2. % 330 BC

3. % 328 BC

4.+ 326 BC

Question Number : 64 Question Id : 5406267303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafea o 9 fog av § Ridher (3raacieR) 3 YR UR 3T fasdt U1
Options :

1. #% UIYd 332

2. % AT 330

3. % U1 328

4. 1YL 326

Question Number : 65 Question Id : 5406267304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following regions did the Senas establish their dominance?
Options :

1. ¥ Bengal

2. # Punjab

3. % Gujarat

4. ¥ Kashmir

Question Number : 65 Question Id : 5406267304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fgferfed & O foog &3 o I Iaw A 39T [ RITfud fasan
Options :

1. ¥ 9T

2. % UuTg

3. % TORId

4. ® HYAR

Question Number : 66 Question Id : 5406267305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For which of the following movements did Gandhiji gave the 'Do or Die' slogan?
Options :

1. ¥ Non-Cooperation Movement

2. % Rowlatt Satyagraha

3. # Dandi March

4. % Quit India Movement

Question Number : 66 Question Id : 5406267305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ foog sficier o forg Tidhsht = ot a1 wRY o7 ART féar ur
Options :

1. % 3HgIT icler

2. % A AU

3. % el A

4. ¢ YR BlS! g

Question Number : 67 Question Id : 5406267306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did the rule of the East India Company end?



Options :
1. # 1855
2. # 1856
3. ¥ 1857
4. % 1858

Question Number : 67 Question Id : 5406267306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg oy & S a1 HUR BT M T 1 T
Options :

1. % 1855

2. % 1856

3. % 1857

4.+ 1858

Question Number : 68 Question Id : 5406267307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which role has India joined the "Indian Ocean Commission"?
Options :

1. ¥ Member

2. % Observer

3. % Dialogue Partner

4. ¥ India has not joined Indian Ocean Commission

Question Number : 68 Question Id : 5406267307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR "feq AETINR Sl H febg wfoyept & 2ffre ga g2
Options :

1. % o



2. ¢ GUdE®H
3. % ale geanil
4. % YR g TR AN § IMMAS 781 g3 §

Question Number : 69 Question Id : 5406267308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following days is celebrated as the International Women's Day?
Options :

1. # 8th February

2. # 28th February

3. # 6th March

4. ¢ 8th March

Question Number : 69 Question Id : 5406267308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofied 7 3 fora & 31 siarigia Afgen faaw & &0 & H-/ o1l 82
Options :

1. % 8 ThRaR]

2. % 28 THRaR]

3. % 6T

4. 34

Question Number : 70 Question Id : 5406267309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where will the 108th Indian Science Congress be held?
Options :

1. ¥ Mumbai

2. ¥ Pune



3. ¥ Chennai
4. ® Syrat

Question Number : 70 Question Id : 5406267309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

108 Y YR faRT B gl ST B ST
Options :

1. % gag

2. g0l

3. % Tds

4, % Id

Question Number : 71 Question Id : 5406267310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?

Note: For this question, discrepancy is found in question/answer. So,this



question 1s 1gnored for all candidates.
Options :

1. Dead end street

2. Warning for a movable bridge

3. Cyclists prohibited

4. Warning for a narrowing

Question Number : 71 Question Id : 5406267310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fean man ¢ftees e o adTaT 82

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

.38 T KT

2. ST (gdde) G &1 ddraei

3. Qg aTa® Ufdefed §

4. YU (RIS BT A1



Question Number : 72 Question Id : 5406267311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?

Options :

1. ¥ Warning for a curve to the left

2. # Driving straight ahead prohibited
3. ® Turning left prohibited

4. # Turning left mandatory

Question Number : 72 Question Id : 5406267311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear man ¢fee e o adTar 82



Options :

1. ¢ 918 3R U g% P! Iara!
2. % 1Y 3 grefa ufasfea §
3. % 91¢ o1 ufasefid g
4. % QS Hfard §

Question Number : 73 Question Id : 5406267312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. # Turning left mandatory

2. ¥ Turning right prohibited

3. % Warning for an uncontrolled crossroad on left
4. % Dead end street

Question Number : 73 Question Id : 5406267312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e mar e ftres A o sarar g2



Options :

1. % §1¢ g offard §

2. ¢ QIR SR Yo iR 8

3. % S5 3R TP SHAARId IRTS 1 <aral
4, % ITTIHIC

Question Number : 74 Question Id : 5406267313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. % Trucks prohibited

2. # Dead end street

3. ¥ Vehicles with an axle weight heavier than indicated prohibited
4. % Vehicles heavier than indicated prohibited

Question Number : 74 Question Id : 5406267313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i fear mar efres A= o samar g2



Options :

1. % g ufaafid §

2. % STTSXKIC

3. ¢ Tobd T TIPS URY ¢RT UR aTal aTe ufasfda §
4. % Hbd ¥ UK 16 Ufasfd ©

Question Number : 75 Question Id : 5406267314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. # Crossroad ahead

2. # Warning for roadworks

3. % Warning for a riverbank

4. ¥ Warning for a bad road surface

Question Number : 75 Question Id : 5406267314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

i fear mar efres A= o samar g2



Options :

1. % M IRTET S

2. % gSPH B PHI Adat

3. % U 4] & [H-IR &1 dara=it
4. ¥ RIS TSH P Idg P! gara-!

Question Number : 76 Question Id : 5406267315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The two-second rule is applicable

Options :

1. ¥ for maintaining a safe distance from other vehicles
2. ® for handling emergencies

3. # for warming up the vehicle’s engine

4. ® for the cooling period of the vehicle’s engine

Question Number : 76 Question Id : 5406267315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q¥ s &1 Fw & e ar g g



Options :

1. ¢ 39 ATgH! ¥ Uh JRI&d gl o1 g+
2. % 31urd fRUTA T W1 B

3. % g8 & ol DI TH B

4. % 981 & So & Pici Ui & forg

Question Number : 77 Question Id : 5406267316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the level of electrolyte in a car’s battery is low, it should be filled with:
Options :

1. # hydro sulfuric acid

2. % alkali acid

3. ¢ distilled water

4. ® clean water

Question Number : 77 Question Id : 5406267316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R fordf FR B et # e Iarze &1 TR $HH g, Al STH 70 I 7 R 57T A1Re?
Options :

1. % gI3e! Jergeh TRYS
2. % bl TRIS

3. ¢ A 9 (e areR)
4. % % Ut

Question Number : 78 Question Id : 5406267317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A chassis of medium vehicle body type is used for a:
Options :



1. # car
2. % jeep
3. % van
4. # bus

Question Number : 78 Question Id : 5406267317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y A1 dls! YHR Bi JRIY &1 IR 378 ¥ e forg foram siman g2
Options :

1. % dR

2. % Wiy

3. ¢ a4

4. % d9

Question Number : 79 Question Id : 5406267318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
traffic signs convey traffic regulations that requires drivers to take immediate action to avoid threat to traffic safety.
Options :
1. ¥ Red
2. % Orange
3. #® Yellow
4. % White

Question Number : 79 Question Id : 5406267318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢fthep Hopd UY ¢fthep Mawl ¥ Yad $=d §, Sl ¢t YR&M & oL Tk ¥ §91d og SISa”] U gid BRATS B BI SUET A & |
Options :
1. ¢ dlcd



2. ® AR
3. % didr
4. % gha

Question Number : 80 Question Id : 5406267319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Orange highway traffic signs warn drivers to be careful when approaching a zone.
Options :

1. * school

2. * factory

3. ¥ construction

4. % hill

Question Number : 80 Question Id : 5406267319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al 1 % ISR T dohd, STSaR] B & & U Ugad 99T Jddh dd & |
Options :

1. % ool

2. % Thgel

3. ¢ fmfo

4. % UgTSl

Arithmetic Abilityl

Group Number : 5
Group Id : 540626226
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

20
No

Arithmetical and Numerical ability1

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 5406267320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

492 x18° _y
324

Options :

1. % 49

2. % 08

3. ¢ 492

4. % 982

540626305
1

Online
Mandatory
20

20

20

Yes

1
540626354
Yes



Question Number : 81 Question Id : 5406267320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfeRad U & usares forg (2) & R R S I1 UM ST 18w

492 %182 9
324

Options :

1. % 49

2. % 98

3. ¢ 492

4. ® 982

Question Number : 82 Question Id : 5406267321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

(1.8)3+(1.2)3
3.24-2.16+1.44

=7

Options :
1. %2
2.%5
3.%6
4.3

Question Number : 82 Question Id : 5406267321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeIRad U= § uxare forg (2) & RIM WR S I1HMF 3T AW




(1.8)%+(1.2)3
3.24-2.16+1.44

=?

Options :
1. %2
2.%5
3.%6
4.9 3

Question Number : 83 Question Id : 5406267322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

(482 = ?7=2°x3
Options :

1. % 16

2. %24

3. % 12

4.+ 576

Question Number : 83 Question Id : 5406267322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad U & U fore (2) & I R S I1HME ST 18w

(488 = V?=2°x 3
Options :

1. #® 16

2. % 24

3.% 12



4. % 576

Question Number : 84 Question Id : 5406267323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

6+-6x9+6-9X6-6+6x9="
Options :

1. % 7

2. %8

3.9

4. % 10

Question Number : 84 Question Id : 5406267323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfafad oA § usars [ (2) & RIM R S 91 7149 {41 1 e?

6+-6x9+6-9X6-6+6x9=?
Options :

1. %7

2. % 8

3.9

4. % 10

Question Number : 85 Question Id : 5406267324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

V729 % 56+ 8 =7
Options :



1. = 138
2. % 142
3.9 189
4. % 198

Question Number : 85 Question Id : 5406267324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRad U & usare fore (2) & I WR S I1HMH AT AW

V729 % 56+ 8 =?
Options :
1. #* 138
2. % 142
3.9 189
4. % 198

Question Number : 86 Question Id : 5406267325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A red light flashes four times per minute and a green light flashes six times in two minutes at regular intervals. If both lights start flashing at the
same time, how many times do they flash together in one hour?

Options :
1. % 30
2. % 24
3. % 20
4. ¥ 60

Question Number : 86 Question Id : 5406267325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS AT &<l Ui fe IR aR 3R U g1 ol &l e & g IR Fafld SfoR1a )R a8 @l ¢ | afg aiFl il U o) 99d | 9061 &
il g, Al d U be H forail IR T A1 I 67

Options :

1. % 30

2. % 24

3. % 20

4.9 60

Question Number : 87 Question Id : 5406267326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three pizzas of weight 460 g, 800 g and 720 g are to be divided into parts of equal weights. Further, each part must be as heavy as possible. If
one such part is served to one guest, then what is the maximum number of guests that got pizza?

Options :
1. ® 86
2. % 72
3. % 112
4.9 99

Question Number : 87 Question Id : 5406267326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

460 T, 800 TTH 3fR 720 UTH Ioi & T FUSST BT THM aoi & U H faHTiord fear ST 81 59 3ielrar, Ue HRT i1 IHa 81 ST
YR BT 13T Ife 39 dRE & Uh HITT B! U HeH &I TRIT SITdT 8, ol fUssT U aTdt A A 1 Uiy TRe &1 82

Options :

1. % 86

2. % 72

3.% 112

4. 99

Question Number : 88 Question Id : 5406267327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The 8 digit number 7654321k is exactly divisible by 16 where 'k' is a single digit whole number. Find the value of 'k'.
Options :

1. %8

2.% 2

3.% 4

4.9 6

Question Number : 88 Question Id : 5406267327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 3fah! B WSAT 7654321k, 16 J TUla: faHTSd § T8t k' TP Thd 3idh Juf T=1 8| 'k' HT A J1d HIfor|
Options :

1. % 8

2. %2

3.% 4

4. ¥ 6

Question Number : 89 Question Id : 5406267328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a number 327 is divided by 4, 5, 7 and 2 successively, the respective remainders are x, y, z and k. Find the LCM of x,y,z and k.
Options :

1. = 21

2. % 15

3.% 24

4. 30

Question Number : 89 Question Id : 5406267328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd T TRSAT 327 DI HHI: 4, 5, 7 3R 2 J Tquiford foran Srar g, O ATHd AR x, v, z IRk M B B 1 %, v, z 3R k BT THAH



YHTUIc HTd BifeTU|
Options :

1. % 21

2. %15

3. % 24

4.+ 30

Question Number : 90 Question Id : 5406267329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an office, the average salary of marketing department is Rs. 8000, the average salary of account department is Rs. 7000, the average salary of
sells department is Rs. 9000, the average salary of marketing department and account department is Rs. 7500 and average salary of account
department and sells department is Rs. 8000. What is the average salary of all three departments together?

Options :

1. ¥ Rs. 8000
2. # Rs. 8250
3. # Rs. 8400
4. * Rs. 7900

Question Number : 90 Question Id : 5406267329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS Haag H, fAuE fIHTT &1 3id Id 8000 0, TRGT FAHTT BT 3id dd 7000 =0, fht faHRT &7 3rd a1 9000 U3, fagum
fIUTT 3R TaT FAHTT 1 3T A= 7500 U TUT AT FIUFT 3R fpt TAHTT BT 3igd - 8000 =0 § | =1 faHmT o1 Ue Iry 3nad
d far g2

Options :

1. ¢ 8000 &0

2. % 8250 ®™UY

3. % 8400 ™Y

4. % 7900 TUY

Question Number : 91 Question Id : 5406267330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In a class of 22 students, 21 students get an average of 44 marks. If the remaining student gets average 66 marks, then find the average marks of
the whole class?

Options :
1. % 15
2. % 30
3. ¥ 45
4. % 60

Question Number : 91 Question Id : 5406267330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

22 BT B U Hef | 21 THET A 3NN 44 3 U fHd | I AW BH 3 66 3 W [H3 8, 0 Hell &1 Hd 3M¥d 3 152
Options :

1. % 15

2. % 30

3.9 45

4, % 60

Question Number : 92 Question Id : 5406267331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a retailer offers a discount of 20 percent on the marked price of his goods and thus ends up selling at cost price, what was the percent mark up?
Options :

1. % 20

2.9 25

3. % 30

4. % 40

Question Number : 92 Question Id : 5406267331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IS BIs YT ATURT 30 TTHMH & SHfdhd Ted TR 20 UIIRIT B! Fe <dl & IR 39 a8 ANl Hed IR o901 &, al aFTd Jod ¥ 3iford g
fob 1 Tfc=rd 3iferes ur

Options :

1. % 20

2.¥ 25

3. % 30

4. % 40

Question Number : 93 Question Id : 5406267332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Colony B has 75 percent more population than colony A. Number of females in colony A is equal to number of males in colony B. In both the
colonies, what percentage of the total population are males?

Options :

1. # 33.33 percent
2. ¥ 36.36 percent
3. % 39.8 percent
4. % 31.25 percent

Question Number : 93 Question Id : 5406267332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HidH! B H BIdFT A Bt a1 7 75 UTI=Id TS ST & | Biamt A T Afarsil & Tea Hidr B H TS8 &) 9 & SReR & | il
I & H ST BT fdaT Ufa=Id T3 52

Options :

1. % 33.33 Ofrd

2. ¥ 36.36 Ufa=Id

3. % 39 8 Yfa=Id

4. % 3125 Ufard

Question Number : 94 Question Id : 5406267333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A number N is divided in three parts such that the sum of first two parts is K percent of third part. Find the third part.
Options :

1. ¥ 100N/K+100

2. * 100N/N+50

3. % 100N/100K+1

4. % 50N/100+K

Question Number : 94 Question Id : 5406267333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U1 N &1 o YT H 9 UHR SIeT AT ¢ b Tgal &l YT BT I R YT BT K f=Td ¢ | <HRRT YT J1d Siforg|
Options :

1. ¥ 100N/K+100

2. % 100N/N+50

3. % 100N/100K+1

4. % 50N/100+K

Question Number : 95 Question Id : 5406267334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 20 percent of a = b, then b percent of 20 is the same as what percent of a?
Options :

1. # 8 percent

2. # 40 percent

3. ¥ 4 percent

4. % 80 percent

Question Number : 95 Question Id : 5406267334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Tfe 2 BT 20 UFALT = b BY, A 20 BT b YA, a b fHd UfdTd & IR SR
Options :

1. % g gfawd

2. ® 40 gfawrd

3. ¢ 4 gfderd

4. % 80 yfd=rd

Question Number : 96 Question Id : 5406267335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rachit and Archit buy two goods at Rs. P and Rs. 2P respectively. Rachit marks his goods at 'x' percent above the cost price and sold it, Archit
marks his goods at 2x percent above the cost price and offers a discount of 'x' percent. If both make the same profit, then what is the value of 'x'?

Options :
1. ¥ 25
2. % 50
3. % 40
4. % 10

Question Number : 96 Question Id : 5406267335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 3R 3ifeid HHR: P ¥ U 3R 2P TUY H g M Weied & | Id 397 THH &I AN e ¥ 'x' Ufawrd $ifie siferd o sadT g,
3ffefd 3o TTHM &) ARt Hed ¥ 2x Tia=rd i sifdrd dxdb '« Ufa=id &1 e <di g1 afe aFl THH ard A €, df 'x' T 31 82
Options :

1. ¥ 25

2. % 50

3. % 40

4. % 10

Question Number : 97 Question Id : 5406267336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The ratio between the cost price and marked price of an article is 3 : 4. If the selling price of that article is Rs. 7225 and the shopkeeper gave two
successive discounts of 15 percent each on the marked price, then find the loss of shopkeeper during this transaction.

Options :

1. ¥ Rs. 275
2. % Rs. 150
3. % Rs. 325
4. # Rs. 290

Question Number : 97 Question Id : 5406267336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foprft o B! ANT Hed 3R 3ifohd Hea & &a &1 30T 3 : 4 § 1 TG 39 I¥] BT fashd Yoo 7225 UL § 3R gHER A 3ifdhd g R
TA® 15 Ua=Id & gl il Fe AT g, A1 3 Aed & SR gHMER B gU o B! J1d Hifod |

Options :

1. ¥ 275 0

2. % 150 F0

3. % 325 ® QY

4. % 200 TTY

Question Number : 98 Question Id : 5406267337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a shirt and trousers are in the ratio 1 : 2. The shopkeeper gives 40 percent discount on the shirt. If the total discount on both
is 30 percent, find the discount offered on the trousers?

Options :

1. # 15 percent
2. % 20 percent
3. % 25 percent
4. % 30 percent

Question Number : 98 Question Id : 5406267337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP HUIS T U Ue & 3ifchd Yol o1 30T 1 : 2 B 1 TS PR FHHIST TR 40 TR BT auT gFl IR $d 30 Ufa=id ge ¢, dl de W
fob et ¢ feam mam

Options :

1. % 15 yfa=a

2. % 20 gfa=rd

3. ¢ 25 gfavrd

4. % 30 gfa=rd

Question Number : 99 Question Id : 5406267338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio in which Surendra and Narendra have contributed the capitals in a company is 3 : 4. Narendra has invested his capital for only 3 months
and has received half as much profit as Surendra. For how much time Surendra invested his capital in the company?

Options :

1. ¥ 8 months
2. # 6 months
3. # 9 months
4. ¥ 12 months

Question Number : 99 Question Id : 5406267338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G 3R e - Th HU H 3 : 4 P U H A AR b | g aet 3 A & o oot goit o1 Fawy fobam ok e g 4 amv
e T, I ST AT UTed o | fba 9Ha & fore YR A 31Ut goit byt & fa fabar 2

Options :

1. v 8 {8

2. % g

3. % 9TgH

4. % 1208



Question Number : 100 Question Id : 5406267339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifx:y=1:2,y:z=1:3,z:w=3:8andu:w=2:5,thenﬁndthevalueof(xyu):(wzz)
Options :

1. % 1:90

2. % 3:80

3.¢1:120

4. % 3:160

Question Number : 100 Question Id : 5406267339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Zlﬁx:yZI:2,y:z=1:3,Z:w=3:SGﬁTu:WZZ:S,Fﬁ(xyu):(wzz)ﬁqﬁﬂmm|

Options :
1. % 1:90
2.% 3:80
3.1:120
4. % 3:160
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Group Number : 6
Group Id : 540626227
Group Maximum Duration : 0
Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No
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Section Id : 540626306
Section Number : 1
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Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626355
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5406267340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of copper and zinc in the mixture is 5 : 2. If 1.25 kg of zinc is added to 17.5 kg of mixture, then find the ratio of copper and zinc in the
new mixture?

Options :
I.% 1:2
2.9 21
3.%2:3
4. % 3:2

Question Number : 101 Question Id : 5406267340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wﬁrsrg;;f die TUT STd &7 3JATd 5 : 2 81 Afe 17.5 fharum Wy & 1.25 frdmmy srar foramn S, af fiyor & aid a1 Sk &1 &
3T BT

Options :
l.#%1:2




2.9 2:1
3.%$2:3
4. % 3:2

Question Number : 102 Question Id : 5406267341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On what sum of money will the compound interest of 2 years be the same as the simple interest on Rs. 1236 for 8 years, if the rate of interest is 6
percent per annum in both the cases?

Options :

1. % Rs. 4150
2. % Rs. 3900
3. ¥ Rs. 4800
4. % Rs. 5600

Question Number : 102 Question Id : 5406267341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fore TR IR 2 oY 1 THafg ST 8 T & T 1236 TUY W YR TS & JH SR, Al 1 FRUFY 7 =1t &b o= 6 wfarwra ufq af 82
Options :

1. % 4150 ¥0Y
2. % 3900 TTY
3. ¢ 4800 ®UY
4. % 5600 TTY

Question Number : 103 Question Id : 5406267342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yuvraj borrows Rs. 15000 for 3 years at 4 percent p.a. simple interest. He immediately lends it to another person at 12 percent p.a. for 2 years on
compound interest compounded annually. Find his gain in this transaction.

Options :
1. % Rs. 1972



2. % Rs. 2240
3. # Rs. 1832
4. % Rs. 2016

Question Number : 103 Question Id : 5406267342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATl 3 98 & foTT 4 Ufa<rd ufday R & IR 15000 U3 IYR o8| 98 qRd 39 Tehgia &l 0 12 Ufa=id ufaay arffes 7o o
2 98 & for fpdt 3y sufdd &) IUR a1 81 39 AF-¢ H ST ATH J1d Hiforg|

Options :

1. % 1972 F0Y
2. % 2240 TTY
3. % 1832 W
4. v 2016 T

Question Number : 104 Question Id : 5406267343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In how many years will the simple interest on a sum of money be equal to the principal at the rate of 16.66 percent per annum?
Options :

1. ® 4 years

2. % 5years

3. ¥ 6 years

4. = 8 years

Question Number : 104 Question Id : 5406267343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

form ot & 16.66 Ta=Td Ufd a8 &1 &3 4 foreit &= 1T IR AIYROT ST, ALY & SRI6R SR
Options :

1. % 499




2. % 59y
3.9 6Ty
4. % g9y

Question Number : 105 Question Id : 5406267344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunita is waiting on the railway station for the arrival of her train. Two trains GT Express and Malwa Express running in opposite directions
cross Sunita on the platform in 27 seconds and 17 seconds respectively and they cross each other in 23 seconds. What is the ratio of speed of GT
Express to speed of Malwa Express?

Options :
l.#%2:3
2.% 1:2
3.03:2
4. % 2:1

Question Number : 105 Question Id : 5406267344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT SO YERTTSt & M & o Yerd R R Uclten = 38 7 | fausia fomn o e arelt <1 Yama! Siidt Tany SiR HreaT TRy
HUI: 27 JHS 3R 17 b T WehH TR A &I UR BT § AR 923 e T Th gk &I UR HRll g | O] TaRio &1 T1fdl &1 AT
THIUY &1 T SITd &1 82

Options :

1.% 2:3
2. % 1:2
3. 3:2
4.% 2.1

Question Number : 106 Question Id : 5406267345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A train running at 76 km per hour passes a man who is walking at 4 km per hour in the same direction in 6 secs. Find the length of the train.



Options :

1. * 130 m
2. 120m
3. % 110 m
4. % 100 m

Question Number : 106 Question Id : 5406267345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T XATS! 76 feil/eiet &t 1 T Ferd g3 4 fordl/der &t 71 & 9o o= & 9ad g3 Ue afdd &1 6 Ydhe § UR Hall ¢ | YeTe! o
SISIERIREd R

Options :

1. ® 130 HicR

2. ¢ 120 HicR

3. % 110 HicY

4. % 100 Hicx

Question Number : 107 Question Id : 5406267346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train 180 m long moving at the speed of 20m/sec. overtakes a man moving at a speed of 10 m/sec in the same direction. Find the time taken by
train to pass the man.

Options :

1. * 6sec
2. % 9sec
3.9 18 sec
4. % 27 sec

Question Number : 107 Question Id : 5406267346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

180 Hiex &l Ueh o 20 Hiex/Ads &t 7 A 7d &1 8, T 3= H U aafad 10 Wex/Adhs o1 1fa ¥ o1 8T 8 | S gRT Afdd &1 IR



B3 T fohaqr 9ag T
Options :

1. % ¢UPS

Question Number : 108 Question Id : 5406267347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car is chasing a motorcycle which is 5 km ahead. Their respective speeds are 90 km/hr and 75 km/hr. After how much time will the car catch
motorcycle?

Options :

1. # 1/2 hr
2.% 1/3 hr
3. % 2/3hr
4, % 3/4 hr

Question Number : 108 Question Id : 5406267347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS BR, TH Al T3fhd BT N1 B I8! 8 ol 5 fhHl 3 8 ! 7ifd s 90 frei/ee 3R 75 fhei/ae 81 fvad 997 & a1 BR
HiexAsfohd &I Uhs Tl

Options :

1. ® 1/29cT

2. 1/39cT

3. % 2/39cl

4. % 3/49cT

Question Number : 109 Question Id : 5406267348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A work twice as fast as B. If both of them can together finish a piece of work in 12 days, then B alone can do it in how many days?
Options :

1. # 24 days

2. % 27 days

3. ¥ 36 days

4. % 48 days

Question Number : 109 Question Id : 5406267348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP e B I G 8| Afe a1 AR fordht Sl 1 12 TG T e, Y B 31hal 59 & &) favam faql & QR e
Options :

1. % 24feq

2. % 27fq

3. ¢ 36TeA

4. % 48feq

Question Number : 110 Question Id : 5406267349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a hostel, the food is sufficient for 300 students for 35 days, if each student is given 240 g meals in a day. But 180 more students joined the
hostel. Now what should be the reduction in meal of each student so that the food will last for same number of days?

Options :
1. % 150 g
2.990¢g
3.#60g
4. % 130¢g

Question Number : 110 Question Id : 5406267349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife Ud® B I fgT | 240 I HISH a1 ST @ T Tep IEEM A, 35 &t & faw 300 T & forw vivH v gar 81 afe 180 SR 8



BETIN T A §U A U BT & HIsH T favait Bl g dTig U dlfds HieH 9 el dab gaf 382
Options :

1. % 150 79

2.+ 90 U

3. % 60U

4. % 130 UM

Question Number : 111 Question Id : 5406267350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh can do a piece of work in 20 days. He works for 5 days and then Bhavesh finishes the remaining work in 10 days. By working together,
In how many days will Ramesh and Bhavesh finishes the work?

Options :

1. ¥ 8 days
2. % 10 days
3. % 12 days
4. % 6 days

Question Number : 111 Question Id : 5406267350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fhft T &1 20 faAT B R A1 &1 98 5 f&Hl I BT T & 94T AN BT DI U1 10 foT & 151 TH 1Y HTH HRd gU AN T
YT G DR 39 B Bl fhan faAl I QR b

Options :

1.« 8 feq
2. % 10f&q
3. % 12fem
4. % 6faq

Question Number : 112 Question Id : 5406267351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A rectangular tank is 62 cm deep. If 3000 cubic cm of water be drawn off the tank, the level of the water in the tank goes down by 4 cm. How
many cubic cm of water can the tank hold?

Options :

1. % 43500 cubic cm
2. % 58400 cubic cm
3. # 52600 cubic cm
4. ¥ 46500 cubic cm

Question Number : 112 Question Id : 5406267351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AATHR b 62 TH eI g1 T T T 3000 T I U b1 Sra &, ol & H U &1 TR 4 H) H1 I Sia1 g1 ¢ | fpa o
I g T QT ST JebdT 82

Options :

1. % 43500 9 9
2. % 58400 99 JH
3. % 52600 99 A
4. ¥ 46500 T I

Question Number : 113 Question Id : 5406267352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical tennis ball container can contain maximum four balls stacked on one another. The top and bottom balls also touch the lid and the
base of the container respectively. If the volume of a tennis ball is 240 cm?, then what is the volume of the container?

Options :

1. % 1280 cm’

2. % 2140 cm?

3. ¢ 1440 cm?

4, % 1560 cm?

Question Number : 113 Question Id : 5406267352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP SAIHR 9 Bt 7ig & U H Th g & SR HAHTH IR T I8 7 Gaobell & | SR SR - &1 1S HH: G 3R U & MUR
&1 1 Bl €1 afe e &1 U e BT 3 240 T B, ) U &1 ST o1 82

Options :

1. % 1280 91
2. % 2140 JH
3. ¢ 1440 A
4. % 1560 IHP

Question Number : 114 Question Id : 5406267353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the perpendicular distance (in cm) between the parallel sides of a trapezium whose area is 154 sq cm. and the lengths of the parallel sides
are 12 cm and 32 cm?

Options :
1. # 14 cm
2. % 6.8 cm
3. % 9.6cm
4. % 7 cm

Question Number : 114 Question Id : 5406267353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

w@wmﬂaﬁwﬁwﬁ%@aﬁgﬁmﬁ)w%mﬁaﬂw 154 a7 QY 3R THFIGR YoTefl &1 dars 12 4T 3R
32 ?
Options :

1. % 143
2. % 6.8 A
3. % 9,699
4. 794



Question Number : 115 Question Id : 5406267354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Answer the question based on the information given below.

The table given below shows the number of chocolates distributed by 5 different students of the same class on their birthday in the class. It also
shows the price per chocolate for each student.

Students | Number of chocolates | Price per chocolate
distributed (in Rs.)

Aman 78 12.5

Bipin 54 25

Chand 82 15

Dev 120 8

Emma 36 40

Find the difference between the amount spent by Bipin and by Chand.
Options :

1. % Rs. 150

2. % Rs. 120

3. % Rs. 80

4. # Rs. 180

Question Number : 115 Question Id : 5406267354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 1S TR B YR TR UY DT IR el

12 foar T ¢9d U B BT & 5 3T B gRT S e IR faalkd diddie &1 T &l ST TT § | I8 U B & Ufd didpac &l
H1Ad B! Y ST gl



o faafta ammee #1 | 9fy giwde =0
qE&AdT (€ #)

HAA 78 12.5

IeGl 54 25

EIE 82 15

g 120 8

THT 36 40

3o 3R =Te gRT & &t Tt IR & " &1 3R J1d wifvTu|
Options :

1. % 150 ®™qY

2. ¢ 120 FT0Y

3. % 80 ®UY

4. % 180 ®TY

Question Number : 116 Question Id : 5406267355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Answer the question based on the information given below.

The table given below shows the number of chocolates distributed by 5 different students of the same class on their birthday in the class. It also
shows the price per chocolate for each student.

Students Number of chocolates | Price per chocolate
distributed (in Rs.)

Aman 78 12.5

Bipin 54 25

Chand B2 15

Dev 120 B

Emma 36 40

Find the total amount spent by Aman.
Options :



1. ¥ Rs. 975
2. % Rs. 1020
3. ® Rs. 845
4. % Rs. 1005

Question Number : 116 Question Id : 5406267355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 178 BRI B 3MYR TR UY 6T IR S|

12 fear T ¢9d U € HaT & 5 3T B gRT SHHfe IR faalkd didde &1 U ol ST T | | I8 UdD 1 & Ul didac &
Fad ol i exfar gl

o faafta ammee #1 | 9fy giwde =0
qEar (€ #)
A 78 12.5
ICICC 54 25
e 82 15
g 120 8
THT 36 40
3 GRT T 1 115 Pl A1 J1d Hifore|
Options :
1. ¥ 975 &0
2. % 1020 F0Y
3. % 845 ® QY
4. % 1005 =09

Question Number : 117 Question Id : 5406267356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Answer the question based on the information given below.

The table given below shows the number of chocolates distributed by 5 different students of the same class on their birthday in the class. It also
shows the price per chocolate for each student.

Students Number of chocolates | Price per chocolate
distributed (in Rs.)

Aman 78 12.5

Bipin 54 25

Chand B2 15

Dev 120 B

Emma 36 40

Find the average number of chocolates distributed by each of the given student.
Options :

1. % 70

2. % 178

3. % 76

4. v 74

Question Number : 117 Question Id : 5406267356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 778 BRI & 3MYR TR UY HT IR S|

12 fear T ¢9d U € HaT & 5 3T B gRT S e IR faalkd Tdde &) T ol ST T | | I8 TS 1 & Ufd didac
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o faafta ammee #1 | 9fy giwde =0
qE&AdT (€ #)

HAA 78 12.5

IeGl 54 25

EIE 82 15

g 120 8

THT 36 40

faU U Ul B gRI f3dRd Al o1 3id T J1d HIfv |
Options :

1. % 70

2. % 78

3. % 76

4. v 74

Question Number : 118 Question Id : 5406267357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following bar graph carefully and answer the question.

Following graph gives the demand and production of washing machine of five companies Godrej, Lloyd, LG, Onida, IFB.



Godre Llovd LG Omnida IEB
B Prodoction = Demand

The demand of Onida is what percent of the demand of IFB?
Options :

1. #® 90 percent

2. % 120 percent

3. % 100 percent

4. ® 80 percent

Question Number : 118 Question Id : 5406267357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIEd SR U &1 YA ST il R UY BT SR S|
fRgferad arw a1 7xie @) Sufal Mieds), dras, TSt ST auT 3i7s. U &t &1 IdTe 3R Wud &I gIfdl g
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Options :

1. ® 90 gfawrd

2.+ 120 Ufa=d

3. % 100 Ufderd

4, % g0 gfawrd

Question Number : 119 Question Id : 5406267358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following bar graph carefully and answer the question.

Following graph gives the demand and production of washing machine of five companies Godrej, Lloyd, LG, Onida, IFB.



Godre Llovd LG Omnida IEB
B Prodoction = Demand

What is the average production of washing machine by all the companies?
Options :

1. # 25

2. % 30

3.¥ 31

4, % 28

Question Number : 119 Question Id : 5406267358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIEd SR U &1 YA ST il R UY BT SR S|
fRgferad arw a1 7xie @) Sufal Mieds), dras, TSt ST auT 3i7s. U &t &1 IdTe 3R Wud &I gIfdl g
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Options :
1. # 25
2. % 30
3. 31
4. % 28

Question Number : 120 Question Id : 5406267359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following bar graph carefully and answer the question.

Following graph gives the demand and production of washing machine of five companies Godrej, Lloyd, LG, Onida, IFB.



50

Godre Llovd LG Omnida IEB
B Prodoction = Demand

What is the respective ratio of the demand of Godrej and Lloyd?
Options :

1.%9:7

2.%10:8

3.%8:10

4.¥7:9

Question Number : 120 Question Id : 5406267359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIEd SR U &1 YA ST il R UY BT SR S|
fRgferad arw a1 7xie @) Sufal Mieds), dras, TSt ST auT 3i7s. U &t &1 IdTe 3R Wud &I gIfdl g
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Options :
1.%9:7
2.%10:8
3.%8:10
4.¥7:9
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Question Number : 121 Question Id : 5406267360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Alexander's books is full of stories of magic, sorcery, and out-of-body experiences.
Options :

1. ¥ Alexander's books is full of

2. # stories of magic, sorcery,

3. #* and out-of-body experiences.

4. % No error

Question Number : 121 Question Id : 5406267360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate



option. If a sentence is free from error, select 'No Error'.

Alexander's books is full of stories of magic, sorcery, and out-of-body experiences.
Options :

1. ¥ Alexander's books is full of

2. % stories of magic, sorcery,

3. #* and out-of-body experiences.

4. % No error

Question Number : 122 Question Id : 5406267361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I rise from the chair, take of the glasses, and walk out of the door.
Options :

1. * Irise from the chair,

2. ¥ take of the glasses,

3. # and walk out of the door.

4. % No error

Question Number : 122 Question Id : 5406267361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

I rise from the chair, take of the glasses, and walk out of the door.
Options :

1. #* Irise from the chair,

2. ¥ take of the glasses,

3. % and walk out of the door.

4. % No error



Question Number : 123 Question Id : 5406267362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The plan is to retain the office building and sub-divide it into offices in small businesses.
Options :

1. % The plan is to retain the office

2. % building and sub-divide it into

3. ¢ offices in small businesses.

4. % No error

Question Number : 123 Question Id : 5406267362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The plan is to retain the office building and sub-divide it into offices in small businesses.
Options :

1. # The plan is to retain the office

2. % building and sub-divide it into

3. % offices in small businesses.

4, % No error

Question Number : 124 Question Id : 5406267363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The only true security against nuclear dangers is an enforceable ban on all nuclear weapons.



Options :

1. # The only true security against

2. # nuclear dangers is an enforceable
3. % ban on all nuclear weapons.

4. ¥ No error

Question Number : 124 Question Id : 5406267363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The only true security against nuclear dangers is an enforceable ban on all nuclear weapons.
Options :

1. * The only true security against

2. # nuclear dangers is an enforceable

3. * ban on all nuclear weapons.

4. ¥ No error

Question Number : 125 Question Id : 5406267364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Those who has wrote the right answers were thrilled when each result was announced.
Options :

1. ¥ had written

2. % have written

3. % has writing

4. ¥ No improvement

Question Number : 125 Question Id : 5406267364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Those who has wrote the right answers were thrilled when each result was announced.
Options :

1. ¥ had written

2. # have written

3. # has writing

4. # No improvement

Question Number : 126 Question Id : 5406267365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

We would buying fresh fruit and pick fresh vegetables from a small garden in the back.

Options :

1. # buy fresh fruit and picking fresh vegetables

2. ¥ buy fresh fruit and pick fresh vegetables

3. # buying fresh fruit and picking fresh vegetables

4. % No improvement

Question Number : 126 Question Id : 5406267365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

We would buying fresh fruit and pick fresh vegetables from a small garden in the back.

Options :
1. # buy fresh fruit and picking fresh vegetables



2. ¥ buy fresh fruit and pick fresh vegetables
3. * buying fresh fruit and picking fresh vegetables

4. % No improvement

Question Number : 127 Question Id : 5406267366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In rural areas, villages are often composed of kin groups that offers support on difficult times.

Options :

1. % which offers support during
2. % that offered support for

3. ¥ that offer support during

4. ¥ No improvement

Question Number : 127 Question Id : 5406267366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

In rural areas, villages are often composed of kin groups that offers support on difficult times.

Options :

1. % which offers support during
2. % that offered support for

3. ¥ that offer support during

4. % No improvement

Question Number : 128 Question Id : 5406267367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Symmetric and geometric designs are the most common features of Belarusian decorative patterns.
Options :

1. # is the most common features

2. % are more common feature

3. % was the most common feature

4. ¥ No improvement

Question Number : 128 Question Id : 5406267367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Symmetric and geometric designs are the most common features of Belarusian decorative patterns.
Options :

1. # is the most common features

2. # are more common feature

3. % was the most common feature

4. ¥ No improvement

Question Number : 129 Question Id : 5406267368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

One may think that becoming forgetful or repeating is a natural part of growing older.
Options :

1. ¥ oneself

2. # himself

3. # herself

4. % ftself



Question Number : 129 Question Id : 5406267368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

One may think that becoming forgetful or repeating is a natural part of growing older.
Options :

1. ¥ oneself

2. * himself

3. # herself

4. * itself

Question Number : 130 Question Id : 5406267369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The family is extremely important environmental influence on personality development.
Options :

l.* a

2.9 an

3. * the

4. % No article is needed

Question Number : 130 Question Id : 5406267369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The family is extremely important environmental influence on personality development.
Options :

1. # a



2. % an
3. # the
4. % No article is needed

Question Number : 131 Question Id : 5406267370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

High fuel costs commodities more expensive and put a premium on locally produced goods.
Options :

1. # is made

2. % making

3. ¥ make

4. % makes

Question Number : 131 Question Id : 5406267370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

High fuel costs commodities more expensive and put a premium on locally produced goods.
Options :

1. # is made

2. # making

3. ¥ make

4. % makes

Question Number : 132 Question Id : 5406267371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.



If you suffer from jaw joint problems you may have several of symptoms or you may just have one.
Options :

1. # this

2. % that

3. % those

4. ¥ these

Question Number : 132 Question Id : 5406267371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If you suffer from jaw joint problems you may have several of symptoms or you may just have one.
Options :

1. # this

2. % that

3. # those

4. ¥ these

Question Number : 133 Question Id : 5406267372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She said traders desperately wanted a variety of shops to attract customers.
Options :

1. ¥ more

2. # fewer

3. # much

4, % less

Question Number : 133 Question Id : 5406267372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

She said traders desperately wanted a variety of shops to attract customers.
Options :

1. ¥ more

2. # fewer

3. ¥ much

4. % Jess

Question Number : 134 Question Id : 5406267373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The thieves ordered him to open the safe, but it was on a time lock he could not.
Options :

1. # though

2. ¥ because

3. * hence

4. % although

Question Number : 134 Question Id : 5406267373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The thieves ordered him to open the safe, but it was on a time lock he could not.
Options :

1. # though

2. ¥ because

3. % hence

4. % although



Question Number : 135 Question Id : 5406267374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: has led to communal riots

B: citizenship (amendment) act
C: appears to simmer — and of late
D: the controversy over the

Options :

1. ¥ DBCA
2. % DCAB
3. * DABC
4. % DBAC

Question Number : 135 Question Id : 5406267374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: has led to communal riots

B: citizenship (amendment) act
C: appears to simmer — and of late
D: the controversy over the

Options :

1. ¥ DBCA
2. % DCAB
3. * DABC
4. % DBAC

Question Number : 136 Question Id : 5406267375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: a major report published by

B: found that an average of 25 percent of all animal and plant

C: the Intergovernmental Science-Policy Platform on Biodiversity and Ecosystem Services (IPBES) in 2019
D: species assessed face extinction, many within decades

Options :

1. # ABCD
2. % ACBD
3. ¥ ABDC
4. % ADCB

Question Number : 136 Question Id : 5406267375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: a major report published by

B: found that an average of 25 percent of all animal and plant

C: the Intergovernmental Science-Policy Platform on Biodiversity and Ecosystem Services (IPBES) in 2019
D: species assessed face extinction, many within decades

Options :

1. # ABCD
2. % ACBD
3. % ABDC
4. % ADCB

Question Number : 137 Question Id : 5406267376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: every natural thing that is happening on this earth is related to climate change
B: the news is spreading like a wildfire



C: the world is obsessed with the “climate change” phenomena
D: now Antarctic has registered a temperature of more than 20 degrees Celsius (68F) for the first time on record

Options :

1. ¥ CDBA
2. ¥ CBDA
3. ¥ CADB
4. % CABD

Question Number : 137 Question Id : 5406267376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: every natural thing that is happening on this earth is related to climate change

B: the news is spreading like a wildfire

C: the world is obsessed with the “climate change” phenomena

D: now Antarctic has registered a temperature of more than 20 degrees Celsius (68F) for the first time on record

Options :

1. ¥ CDBA
2. ¥ CBDA
3. ¥ CADB
4. % CABD

Question Number : 138 Question Id : 5406267377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: yet the farming community, agricultural sector at large has gone through a lot of turbulence and the healthcare sector has conveniently side-
lined it

B: in terms of farm outputs, India ranks second

C: over 50 percent of the India workforce was driven by agriculture and contributed to more than 18 percent of the country’s GDP

D: India’s history of agricultural progress dates back to the Indus Valley Civilization

Options :
1. % DCAB



2. % DABC
3. % DBAC
4. ¥ DBCA

Question Number : 138 Question Id : 5406267377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: yet the farming community, agricultural sector at large has gone through a lot of turbulence and the healthcare sector has conveniently side-
lined it

B: in terms of farm outputs, India ranks second

C: over 50 percent of the India workforce was driven by agriculture and contributed to more than 18 percent of the country’s GDP

D: India’s history of agricultural progress dates back to the Indus Valley Civilization

Options :

1. #* DCAB
2. % DABC
3. ¥ DBAC
4. ¥ DBCA

Question Number : 139 Question Id : 5406267378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Uncompromising
Options :

1. ¥ Inflexible
2. # Insecure

3. % Compliant
4. # Flexible

Question Number : 139 Question Id : 5406267378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Uncompromising
Options :

1. ¥ Inflexible
2. # Insecure

3. # Compliant
4. # Flexible

Question Number : 140 Question Id : 5406267379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Miser

Options :

1. # Squanderer
2. % Accumulator
3. % Waster

4. # Spendthrift

Question Number : 140 Question Id : 5406267379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Miser

Options :

1. * Squanderer
2. ¥ Accumulator
3. % Waster



4. * Spendthrift
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Question Number : 141 Question Id : 5406267380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.



Thomas Weir was sentenced to death and burned at the , while his sister was hanged.

The thick eight-ounce was cooked just medium as she had ordered it in the restaurant.
Options :

1. #® stake; stake

2. % steak; stake

3. ¥ stake; steak

4. # steak, steak

Question Number : 141 Question Id : 5406267380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

Thomas Weir was sentenced to death and burned at the , while his sister was hanged.
The thick eight-ounce was cooked just medium as she had ordered it in the restaurant.
Options :

1. # stake; stake
2. % steak; stake
3. ¥ stake; steak
4. # steak, steak

Question Number : 142 Question Id : 5406267381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Colossal
Options :

1. % Mighty

2. % Immense
3. % Extensive
4. ¥ Negligible



Question Number : 142 Question Id : 5406267381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Colossal
Options :

1. % Mighty

2. # Immense
3. % Extensive
4. ¥ Negligible

Question Number : 143 Question Id : 5406267382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Oscillate
Options :

1. ¥ Stabilize
2. % Swing
3. % Vibrate
4. # Alternate

Question Number : 143 Question Id : 5406267382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Oscillate
Options :
1. ¥ Stabilize



2. #® Swing
3. # Vibrate
4. % Alternate

Question Number : 144 Question Id : 5406267383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Hebiscus

2. # Tenacity

3. % Generous

4. # Reindeer

Question Number : 144 Question Id : 5406267383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Hebiscus

2. # Tenacity

3. # Generous

4. ® Reindeer

Question Number : 145 Question Id : 5406267384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. * Conclusive

2. ¥ Represive

3. % Repulsive



4. % Exclusive

Question Number : 145 Question Id : 5406267384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. % Conclusive

2. ¥ Represive

3. % Repulsive

4. % Exclusive

Question Number : 146 Question Id : 5406267385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Gullible

2. # Introvert

3. % Ambiverte

4, % Extrovert

Question Number : 146 Question Id : 5406267385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Gullible

2. % Introvert

3. ¥ Ambiverte

4. % Extrovert



Question Number : 147 Question Id : 5406267386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Hesitate

2. # Incorporate

3. % Depreciate

4. ¥ Asocciate

Question Number : 147 Question Id : 5406267386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Hesitate

2. # Incorporate

3. % Depreciate

4. ¥ Asocciate

Question Number : 148 Question Id : 5406267387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Affordaeble

2. % Miniscule

3. # Intermittent

4. # Improbable

Question Number : 148 Question Id : 5406267387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Affordaeble

2. % Miniscule

3. # Intermittent

4. * Improbable

Question Number : 149 Question Id : 5406267388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Even though the joke was in poor taste, everyone in the audience laughed hysterically at it.
Options :

1. ¥ Inappropriate

2. % Acceptable

3. % Understandable

4. % Unfriendly

Question Number : 149 Question Id : 5406267388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Even though the joke was in poor taste, everyone in the audience laughed hysterically at it.
Options :

1. ¥ Inappropriate

2. % Acceptable

3. # Understandable

4. # Unfriendly

Question Number : 150 Question Id : 5406267389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

After spending hours working on this project, I'm running out of steam—can we take a break?
Options :

1. % Lacking money

2. ¥ To lose one’s energy

3. # To be indecisive

4. % Unconcerned

Question Number : 150 Question Id : 5406267389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

After spending hours working on this project, I'm running out of steam—can we take a break?
Options :

1. # Lacking money

2. % To lose one’s energy

3. # To be indecisive

4. % Unconcerned

Question Number : 151 Question Id : 5406267390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

We're letting him join in out of courtesy, not because we want to be friends with him.
Options :

1. ¥ With kindly consideration

2. # To be forced

3. * Improper behavior



4. # Out of sympathy

Question Number : 151 Question Id : 5406267390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

We're letting him join in out of courtesy, not because we want to be friends with him.
Options :

1. ¥ With kindly consideration

2. % To be forced

3. # Improper behavior

4. % Out of sympathy

Question Number : 152 Question Id : 5406267391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

You got here in the nick of time—we're just about to start the show.

Options :

1. # In an interval

2. # Arriving late

3. #® In a specified time limit

4. ¥ At the last possible moment

Question Number : 152 Question Id : 5406267391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

You got here in the nick of time—we're just about to start the show.

Options :



1. * In an interval

2. % Arriving late

3. * In a specified time limit

4. ¥ At the last possible moment

Question Number : 153 Question Id : 5406267392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Well, that's a fine kettle of fish. I thought I paid the credit card bill, but it turns out that I missed the due date by a week.
Options :

1. ¥ An awkward situation
2. # Appropriate event
3. # A confusing state

4. % A comedy of situation

Question Number : 153 Question Id : 5406267392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Well, that's a fine kettle of fish. I thought I paid the credit card bill, but it turns out that I missed the due date by a week.
Options :

1. ¥ An awkward situation
2. % Appropriate event
3. # A confusing state

4. ® A comedy of situation

Question Number : 154 Question Id : 5406267393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



A person who gives money or other help to a person or cause.
Options :

1. ¥ Benefactor

2. # Benediction

3. # Beneficiary

4. ¥ Bonafide

Question Number : 154 Question Id : 5406267393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who gives money or other help to a person or cause.
Options :

1. ¥ Benefactor

2. % Benediction

3. # Beneficiary

4. % Bonafide

Question Number : 155 Question Id : 5406267394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The treatment of disease by the use of chemical substances.
Options :

1. # Pathology

2. ¥ Chemotherapy

3. # Cytology

4. % Cryptology

Question Number : 155 Question Id : 5406267394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

The treatment of disease by the use of chemical substances.
Options :

1. # Pathology

2. ¥ Chemotherapy

3. % Cytology

4. % Cryptology

Sub-Section Number : 2
Sub-Section Id : 540626358
Question Shuffling Allowed : Yes

Question Id : 5406267395 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the given questions.

The board of Flipkart Online Services Pvt. has approved an agreement to sell about 75 percent of the company to a Walmart Inc.-led group for
approximately $15 billion, according to people familiar with the matter, an enormous bet by the American retailer on international expansion.

Under the proposed deal, SoftBank Group Corp. will sell all of the 20-plus percent stake it holds in Flipkart through an investment fund at a
valuation of roughly $20 billion, said the people, asking not to be named because the matter is private. Google-parent Alphabet Inc. is likely to
participate in the investment with Walmart, said one of the people. A final close is expected within 10 days, though terms could still change and a
deal isn’t certain, they said.

That would seal a Walmart triumph over Amazon.com Inc., which has been trying to take control of Flipkart with a competing offer. Flipkart’s
board ultimately decided a deal with Walmart is more likely to win regulatory approval because Amazon is the No. 2 e-commerce operator in
India behind Flipkart and its primary competitor. Amazon is out of the running unless Walmart hits unforeseen trouble.

Sub questions

Question Number : 156 Question Id : 5406267396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Walmart Inc. an international retailer belongs to which country?
Options :

1. ¢ United States of America

2. ® England

3. ® France

4. ® Germany

Question Number : 157 Question Id : 5406267397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much percent stake does SoftBank Group Corp. has in Flipkart?
Options :

1. % less than 20 percent

2. ¥ more than 20 percent

3. # they do not have any stake in Flipkart

4. % 20 percent

Question Number : 158 Question Id : 5406267398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was Walmart a better option for Flipkart over others?

Options :

1. # As Amazon is out of the running

2. ¥ As the deal with Walmart is more likely to win them regulatory approval

3. % As Flipkart is predicted to hit unforeseen trouble

4. % As SoftBank Group Corp will sell all of its stakes in Flipkart through an investment fund

Question Number : 159 Question Id : 5406267399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Flipkart would be selling 75 percent of the company to which of the following company?
Options :

1. # eBay



2. % Amazon
3. % Walmart
4. % Alibaba

Question Number : 160 Question Id : 5406267400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is Flipkart’s primary competitor in India?
Options :

1. % Soft Bank

2. % Walmart

3. # eBay

4. ¥ Amazon

Question Id : 5406267395 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the given questions.

The board of Flipkart Online Services Pvt. has approved an agreement to sell about 75 percent of the company to a Walmart Inc.-led group for
approximately $15 billion, according to people familiar with the matter, an enormous bet by the American retailer on international expansion.

Under the proposed deal, SoftBank Group Corp. will sell all of the 20-plus percent stake it holds in Flipkart through an investment fund at a
valuation of roughly $20 billion, said the people, asking not to be named because the matter is private. Google-parent Alphabet Inc. is likely to
participate in the investment with Walmart, said one of the people. A final close is expected within 10 days, though terms could still change and a
deal isn’t certain, they said.

That would seal a Walmart triumph over Amazon.com Inc., which has been trying to take control of Flipkart with a competing offer. Flipkart’s

board ultimately decided a deal with Walmart is more likely to win regulatory approval because Amazon is the No. 2 e-commerce operator in
India behind Flipkart and its primary competitor. Amazon is out of the running unless Walmart hits unforeseen trouble.

Sub questions

Question Number : 156 Question Id : 5406267396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Walmart Inc. an international retailer belongs to which country?
Options :

1. ¥ United States of America

2. % England

3. % France

4. % Germany

Question Number : 157 Question Id : 5406267397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much percent stake does SoftBank Group Corp. has in Flipkart?
Options :

1. # less than 20 percent

2. ¥ more than 20 percent

3. # they do not have any stake in Flipkart

4. % 20 percent

Question Number : 158 Question Id : 5406267398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why was Walmart a better option for Flipkart over others?

Options :

1. ¥ As Amazon is out of the running

2. ¥ As the deal with Walmart is more likely to win them regulatory approval

3. # As Flipkart is predicted to hit unforeseen trouble

4. % As SoftBank Group Corp will sell all of its stakes in Flipkart through an investment fund

Question Number : 159 Question Id : 5406267399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Flipkart would be selling 75 percent of the company to which of the following company?
Options :



1. * eBay

2. % Amazon
3. % Walmart
4. % Alibaba

Question Number : 160 Question Id : 5406267400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is Flipkart’s primary competitor in India?

Options :
1. * Soft Bank
2. * Walmart
3. * eBay
4. ¥ Amazon
General Hindil
Group Number : 9
Group Id : 540626230
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Hindi Language & Comprehensionl
Section Id : 540626309
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Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626359
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5406267401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o O S BT et |y fowse o
Options :

1. % ST + S{fEm

2. Sl + YW

3. % 97 + Y

4. % GIIfd + SrHETE

Question Number : 161 Question Id : 5406267401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & 9 ST T et 9 fawse o 62
Options :

1. % ST + ST

2. ST + SYHHT

3. % ST + HIHMT

4. ® Sfd + 3=

Question Number : 162 Question Id : 5406267402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T W6 H S -1 ST T I 98 51 &1 faaandss g s
Options :

1. % 3f

2. % 19

3. % OR

4. ¥ T

Question Number : 162 Question Id : 5406267402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S R16G B HIH-9T ST A ¥ I8 919 BT [l g1 s
Options :

1. % 3l

Question Number : 163 Question Id : 5406267403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"HAUg" g hl JHY ﬁ'ﬂ_ﬁwm')
Options :

1. ¢ I & forg 3mug

2. % I U U8

3. % g I 3Ug

4. % g Dhl Ug

Question Number : 163 Question Id : 5406267403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"HAUg" WWW%"T@W E:;llll?



Options :

1. ¢ T & foru 3mug
2. % I U U8

3. % g dI 3Ug

4, % J PplUg

Question Number : 164 Question Id : 5406267404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 § dogd Isg BT I8 BIVT:
Options :

1. % HY®

2. % SIgPT

3. ¥ Hbol

4. % 4l

Question Number : 164 Question Id : 5406267404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{51 H q g sq BT TG BHIfOIT:
Options :

1. * HYh

2. % ST

3. ¢ Odhal

4. % dId

Question Number : 165 Question Id : 5406267405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrEAfIRed & @ SH-91 Teg Soadrad U g 87

Options :




1. ® giad
2. & TS
3. % 3rdl
4. % T

Question Number : 165 Question Id : 5406267405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIREd & @ SH-91 WMo Soadrad U3 el 67
Options :

1. ® Gidd

2. ¥ TS

3. % Fidl

4. % GHI

Question Number : 166 Question Id : 5406267406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau TTQ g & forg T req, 1 =g BT

Options :

1. % feRiidt
2. % fgrast
3. % qaldg

4. ¢ TeR=TL

Question Number : 166 Question Id : 5406267406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeR & foTT Ueh Teg b1 < HITOTT:



"ggd fel deb g arar
Options :

1. % feRsild!

2. % fesgrael

3. % daldg

4. ¢ TR

Question Number : 167 Question Id : 5406267407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEfRad 7 ¥ ®19-91 e "gHIHRI%G" 6T Ygigar 82
Options :

1. GHBICTh

2. % 3fTdladh

3. % 3THHT

4. % 3THfeR]

Question Number : 167 Question Id : 5406267407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i & @ o9-91 v "THamRI%" & yaiadTe 82
Options :

1. ¢ HHBICTH

2. % 3Tl

3. % HIHHY

4. % 3T

Question Number : 168 Question Id : 5406267408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frforiaa & @ fou Tu weg-gm & Wt 3rf-0e ardt fadey o1 994 i
B - By

Options :

1. % Q] - W&D

2. ¥ YGHIN - GoTHI

3. % ¥ - UM

4. % Hid & IR T 1Y - G DI

Question Number : 168 Question Id : 5406267408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRad & I fou 7U wres-g & g orf-21g aTdl fadhed &1 99 Sifort:
B - I

Options :

1. % I - Y&fdh

2. ¢ YGHI - Tl

3. % G - TRIM

4. % Hd & TR TP A0 - YCHI

Question Number : 169 Question Id : 5406267409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrefafed # ¥ 'plaea &1 o e 71 g?
Options :

1. % 3Uaifd

2. % IR

3. ¢ T

4. % P



Question Number : 169 Question Id : 5406267409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfaRed O ¥ "alaea” o1 f9dm e 182
Options :

1. % 3ODIfd

2. % TR

3. QI

4. % DY

Question Number : 170 Question Id : 5406267410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffafea & @ S1F-a1 31 TR T8l 72
Options :

1.¥ 3

2.% %

3.% U

4. %7

Question Number : 170 Question Id : 5406267410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfRId o O D19-91 301 TR el 82
Options :

1. 3

2.% %

3. U

4. %1

Question Number : 171 Question Id : 5406267411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= & § 313G gl a1 Tsg BT TG HIT:
Options :

1. ¢ gfaae

2. % 7T

3. % Ao

4. % YIS

Question Number : 171 Question Id : 5406267411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 4 O SIR[E aci! aTel R1eq BT I DI
Options :

1. ¢ yfdae

2. % Yitd

3. % g

4. % YA0TSIA

Question Number : 172 Question Id : 5406267412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefofed # 9 et &1 fad wee F1 82
Options :

1. #® ANTHA

2. ¥ ORI

3. % @lugd

4. % 3URUFd

Question Number : 172 Question Id : 5406267412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fFfaRad o O "Iyt &7 faay e J1 82
Options :

1. # 3NTHA

2. ¢ IR

3. % @lugd

4. % 3URUFG

Question Number : 173 Question Id : 5406267413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad & @ $1F-91 Teg "SRR &1 Taigard 8l 82
Options :

1. % qqdl

2. % qld1d

3. ¥ HYY

4.% 3

Question Number : 173 Question Id : 5406267413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR o ¥ -9 2165 "SRR H1 Garard -Tol g2
Options :

1. * &l

2. ®% 4

3. ¥ HYY

4.% 3

Question Number : 174 Question Id : 5406267414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T O ¥ SRITA/dd Mg 1 98- DI
Options :

1. T

2. % gl

3. % g9

4. % H9

Question Number : 174 Question Id : 5406267414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%1 § & ST/ e b1 TG DITSIT:
Options :

1.« T

Question Number : 175 Question Id : 5406267415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfafad o 9 frg wee o ad it gg 82
Options :

1. # Uyl

2. % JIATITD

3. % fopgrarg

4. ¢ SffaRfoTd

Question Number : 175 Question Id : 5406267415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrefefed § 9 fod 2rea &1 acHl T 82



Options :

1. % Ul

2. % 3[qI3fagdH
3. % fohgrarH
4. ¢ feRfora

Question Number : 176 Question Id : 5406267416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 9 TlifiT 2sg 1 T BT
Options :

1. % JTRTHRI

2. % dddH

3. % 7@

4.« G

Question Number : 176 Question Id : 5406267416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e 5 QT Teg b1 = BT
Options :

1. ® JTHRY

2. % dddld

3. % %

4. UMD

Question Number : 177 Question Id : 5406267417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRea o @ «far &1 9gaaq gl

Options :



Question Number : 177 Question Id : 5406267417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefeied & @ S o1 agaeT &l

Options :

Question Number : 178 Question Id : 5406267418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I = 3101 Uell & gRT WHT SI91T, T8 " gRI" fhg HRb o1 faufad g2
Options :

1. % JIAYT PRP

2. ¥ DI hRD

3. ® YU HRb

4. % 3YH HRD

Question Number : 178 Question Id : 5406267418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G = 3T Ut & GRT WHT §-aMT, Tg1 " GRI" [ SR ! faufad g2

Options :
1. ® YT HRB



2. ¥ B HRPB
3. % JUGH HRP
4. % JYHI HRB

Question Number : 179 Question Id : 5406267419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe g Tg, Y U 81 SIS | U8 a1 fh Y hTdl T 3aTeRUT 87
Options :

1. % A HiT®q

2. % Wiy gdd=

3. ¥ BdegHg Hiawq

4. % gUiyd

Question Number : 179 Question Id : 5406267419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TH UeH!, o T B1 SIS | g aTad fohy hTdt &1 ITeRT 82
Options :

1. % JrERY Higsq

2. % Wiy gduH

3. ¥ BgegHg Hiasq

4. % qof yg

Question Number : 180 Question Id : 5406267420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=1 & @ wdar T Tefdd areg H1H-91 82
Options :

1. % g Q8T Il g

2. ¥ Hdl YFTET 5|



3. % 19 <8} W ST B
4. % dSH! Y Iy Ul S 3

Question Number : 180 Question Id : 5406267420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= & § Fejaren I e&fd ared SF-A1 82
Options :

1. % T a1 ol g |

2. ¢ Sl U@ ]

3. % {19 &5l WRT AT 5|

4. % FSH! g U S B
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Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 5406267421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= o O e eare gaqm 3 d6fid ared $H-91 52
Options :

1. % YRd T TIHIT 125 S AN a9 Hd B

2. ¢ S ST ! HRAT

3. % U HBII[d |7

4. % WA MR

Question Number : 181 Question Id : 5406267421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 T O Seyarae gdm 9§ Hefid a1ed S F-1 82
Options :

1. % YRd H I 125 HIS AN (a9 HRd B

2. Sl BT HRAT

3. % 310 BEI 6 87

4. % TG AT G

Question Number : 182 Question Id : 5406267422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & q Y qTRI BT T BT



Options :

1. % IY A D Hed H M DI Hls YbId ol g |
2. % T U 9T QYA Aigd Byl

3. % IRPHg Bl fbdl = 7 AT

4.« T S S T A a8 AHRD

Question Number : 182 Question Id : 5406267422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T 9 g a1 1 7 DIfSTT:

Options :

1. % 3P P P U M D BIs YobId Tal g |
2. % ¥ 3T 1 JUHOT Aied B

3. % IRDbg Bl [l 5 7 T

4.« T S SR 1 H g8 AFRY

Question Number : 183 Question Id : 5406267423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4= o § g 91 BT 999 DI

Options :

1. v T e 81§, g e g |

2. % DT W A BB e B |

3. % 3(0 70N o HRUT BT GH! S8 3M1aR - GebR gl UT|
4. % I A A DIs HH I 6! gl

Question Number : 183 Question Id : 5406267423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A T O Ygad 91T &1 I8 DITSTT:

Options :




1. ¢ U1 9180 o1 8, T e B

2. % U1 A1 1 G A B |

3. % 30 T[0T o HRUT D] YU ST 3M7aR - YHR il UT|
4. % GHI A Y Bl HH T a1 g3l

Question Number : 184 Question Id : 5406267424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 919 Y IR g | uRafdd pife:

Options :

1. % YYAT SR B, 3fd: 98 Whd o S|

2. % Y JUHT SR §, T I8 Tod el oI |
3. % QAT AR 8, O 98 TS W5 e TS|

4.« g, SR 8H & HRUT TS 5 d ol T8 |

Question Number : 184 Question Id : 5406267424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 71U g ) IR arey § uRafdd sifv:

Options :

1. % T SR €, 31d: 98 W ol S|

2. % T YOAT SR ¢, TUI 98 THd Ta! o |
3. % goHT SR &, 1 98 31 W5 Tol TR |

4. GO, §1R 11 & BRUT 31T T ol -Te] TS|

Question Number : 185 Question Id : 5406267425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



qIR &b Y =Y BT I DI
Options :

1. % 39 fHeR I} 82
2.« 3T HEI ST IB 82

3. % 3T Hl B! o g 82

4. % 319 fHeR SR §7

Question Number : 185 Question Id : 5406267425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
JIH & G &Y DI I DIfoIT:
Options :

1. % 3 fHeR I SE &2

2. ¥ U HGI o B 67

3. % 31T gl B A 8?2

4. % MY fheR SR 82

Question Number : 186 Question Id : 5406267426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 70 9T & UBR BT T IOl
"YRRATE YR Uh JETgR TGRS 71"

Options :

1. ¢ fayaras® a1
2. % GYad a1

3. % By ar

4. % fqEOTieaiysd areg

Question Number : 186 Question Id : 5406267426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faU 7T a1 & UHR BT T IOl
nm@wwmww

Options :

1. ¢ fayFarE® a1

2. % FYgad dI

3. % Oy 9/

4. % foumEnfeaiys areg

Question Number : 187 Question Id : 5406267427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a9 & Fad Ue I SR U fAT 8 3y o Sel w1 gl fAdai Yo gdedl, Peaargl
Options :

1. % fogy arery

2. % YURAdHddh dI]

3.9 W dIR]

4. % QYIS IR

Question Number : 187 Question Id : 5406267427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 9190 & Pad U I 3R U AT 8 3t 3 Sl w1 gl Il Y g0 dde s,  Pgaargl
Options :

1. % foy are

2. ® YRS did]

3. ¢ IRA IR

4. % fqyTIare arR

Question Number : 188 Question Id : 5406267428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

1 & § gererT " AT BT 37 g2
Options :

1. ¢ ARSI BIhR 3R FUR G&HT|

2. % gufcT W= g1

3. % ggdSsqE Bl

4. % HISMI

Question Number : 188 Question Id : 5406267428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 T & gETarT "a ST & R 3 g2
Options :

1. ¢ TSI BIhR 3R IR G& |

2. % QU1 W g

3. % §gd oA gl

4. % TSI

Question Number : 189 Question Id : 5406267429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRad & @ fo gerar &1 i "2y dgM 8T 82
Options :

1. ¢ IR Il T

2. % IR fGA BT Al

3. % G HIAIG AT

4. % FHA R W T YS

Question Number : 189 Question Id : 5406267429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f=fafad § O fog gerak &1 o =iyt dgMI" BT 82
Options :

1. ¢ IR Tl I

2. % IR fGA BT Aleh

3. % S HIAIG g

4. % S R W T TS

Question Number : 190 Question Id : 5406267430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffied & 9 gererT "RR 9 fomeT Sar-r &1 3 31 g2
Options :

1. % 3O Heied TR BT

2. % SRI-HT SUDR h]

3. % 3O ITCACH T &HT AT

4, % 3@ DI dgddl JhT-l

Question Number : 190 Question Id : 5406267430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o @ gerarT "RR ¥ fomet Sar- &1 ar 1 /2
Options :

1. % 3O Hoicd TR BT

2. % SRI-GT SUDHR HRA]

3. % U T T & HIH

4. % 3 dI dgddl JhIHl

Question Number : 191 Question Id : 5406267431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fAafaRad 7§ dreifad "=8 A3 919 &1 A8~ &1 31 31 g2
Options :

1. ® SIS Bl oI Y 7Y B 1|

2. % 3@l ¥ Yd i

3. ¢ T XS B T HA & (AT S(oia BHIH HAT

4. % T XM UTeT|

Question Number : 191 Question Id : 5406267431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRy & 9 Aipifad s 18 S &I A5~ &1 &1 31 g2
Options :

1. % TS DI OIS Y 7Y B &M

2. % 3 H Yd T

3. ¢ T AMF B R B & (o1T 36T HTH HAT

4. % T N T

Question Number : 192 Question Id : 5406267432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 T @ Aipifad "GIdt &1 U &1 T 31 g2
Options :

1. #% IDY DI YHT JATE g

2. % fYPH TS RIBAT R

3. % fqUfy U8 W gfg &1 B HHAl

4. ¢ R feamar o oo T8l

Question Number : 192 Question Id : 5406267432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o T Apifad "eid &1 uar &1 3if g2



Options :

1. % IHY BT I GAT BT

2. % 3HfYFH ASH RIBAT B

3. % fURI USA IR §fig &1 DHTH 7 B
4.« 4% feamar o oo 81

Question Number : 193 Question Id : 5406267433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=1 T O e, T 3R SG_UI & 19 & Ugdl T AT fobaT Sirar g
Options :

1. ¢ T9¢2re g

2. % fowpfesiys fg

3. % JfRM g

4. % 3fcufrm™ g

Question Number : 193 Question Id : 5406267433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & § T, THAH 3R IS0 & 11 & Ugd T YN fohaT ST g1
Options :

1. ¢ T9cwre g

2. # fawmnfeaius fag

3. % fgia g

4. % 3fcufR™ frg

Question Number : 194 Question Id : 5406267434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o O foog g H fawrnfeays fomg o1y gt =gt fovar mar g2

Options :



1. ® g1 98 TR I

2. % 918 | fHat S8 Sie B
3. % TR 3 TR!

4. <ol g Qi &l |

Question Number : 194 Question Id : 5406267434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 7 fove e | fowranfeays femg o1 uanT 98l 781 fosan T g2
Options :

1. #* g1 ! dg A 11|

2. % 915 | fhat 3! SR8 &

3. % RIgPR 8 TW!

R E-CIEERUCSEAR

Question Number : 195 Question Id : 5406267435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & 9 Qe IuTey Td el &I forg & fore forw fomg o1 wanT foa S g2
Options :

1. % 3reqfaRM g

2. % IgfaH forg

3. ¢ 94 fag

4. % YA I8

Question Number : 195 Question Id : 5406267435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & 9 Qe IuTey Td udl &I forg & fore fovw fomg o1 wanT o S g2
Options :

1. % 3fcufarmH g



2. #® g g

3. ¢ @94 fag

4. % YAqraD g

Sub-Section Number : 2
Sub-Section Id : 540626361
Question Shuffling Allowed : Yes

Question Id : 5406267436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

& 7T TRITI T YD ST HR U=Al b IR GIToT:

AHIHT, HRATT TG BT el Ge g1 R T9¢ BT SHURT e I IHT § | Al JHT JraHIfie 9 HAUPR & YR TR ANl
SR U8l g9 §RT g4 g€ UfafAfat § fdd gt 8 | YR a4 & SruR - § Uawl &1 ifrad W= 552 9% 8l A« &, forad
3 530 F& A= I & 3IR 20 TG I b5 JMRIA UGN BT YTIH1RIE HR Fobd ¢ | Fad B Jaie Ui o1 s & Rufd &
gﬂ%n%a‘r aﬁgxﬁaw%zuﬁrﬁfﬂa‘faﬁaﬁwm%ﬁﬁﬂamw%ﬁwmﬁmﬁsaﬁ%mg@mﬁ
T fo T ST Il g |
T Wb FHI BT 713 1952 H §3fT, IT THI YR AP HIUY 364 HIT & 1Y Siid SRS HRob Tl H Ugdl | $Hob 1Y g1 Sfaex el
8 HRd & Ugel TUMH § | T8 HRAR AP HIUF DI AT 45 Tld=1d A el
HRA & TAD I B IYB! ST & STUR TR AHIH-TeH fIad g1 TdHE B TS 1971 DI SIS TR TR & 1 3T IR
AIHOHT & o=l Bt G- Iy 2026 A YR far STAT | S99 Uga Ud® SR& &1 SRTUMAT & 3TYR R Je WH Fuia gid 31 gg
BT 849 Tfae™ WM (2001) T foam 7T o1, FOITY ST 3UHT STETET & SUR TR S1ET ¥ SaTal R U HR- &1 W gl de |
qTAH WU H ] B SHERE & SR fadfid Wiel ! W= o 3aR 3R HRd &1 Ufafferd, gfénr 4Rd & gored dgd A ¢
Tt & & IR 1oa, AT, iy USRI, Hfed 3R Ha o forTen! Tad SHERed] o= B SvedT 61 R 21% 8, B 129 Al JHT
oI W sidfed ot TR § Tafe, o 31fiie et ard =t HTomh Iy IR Uew 3R S8R ! Ggad SHERa S & SHERe &1
25.1;%%@@@% 120 TS Y 31T & | aH | sreger 3R SHid-URT T & &1 T-HId Jewil &I s, Ja & Jaxd S
54581
gfe JrT T Uga 41 A1 fooan a1 81, i THT BT HRIBTA U1 Ugll 93 I Ah 3T Ui I8 deb gidl § 39S 8¢ I8 Wd: HT gl
ST 81 T THT & BRIGT & SR TS SMUTAHTd 1 GO HI Sl § <) TS B 39b] SRIBTd B & gRI Th T § 3ifefrayd uh
¥ I dgM 1 fIER B, Tafds MuTdewTal o1 BIvun TATE 811 &1 fRufd & 39 et oft uRfRufa o & 78 3 3iftres 7Y sgrn o g
AEHgHT 3+ Fafferd Tewl & T U o &1 3(UA 3rexef (W) & U H T & | 1 TaTea | Segef &1 Tgradl SUTeHe gRI &1
m%mmﬁWHmésﬁaﬁawaﬂﬁ%l e THT H BT YT BT ITREIAE e8] BT gidl o | T H TamaHT
Y& I
Gl e o1 IR T e UR DR 81 IUDT & BT SHb SSURRYT Bl TR IUTIDHR dUT IHb Ut 7§l TR ITHHT Dl




SUHHTUR 31yaT =1 GRT A1 Dis H YR T3 T 3ehéf Bicdl ¢ | ¢ faret o1 (eRur wWiepr o= 81 TG o foet TR wWiess wiegifesd
T BT &, A1 39 fod BT o T 181 A1 I | Tiax &1 Al sifam qut sreaaR) giar ¢ 1t vac afafaarl Sae! srefqar 8 &
BT ¢ | P bl T BT TG T M TR 98 IUB] UG A& G| AIHTHT & [age g7 W Ul TR ug R HRiRd 3gar g1 7dH
TIHGHT P A o TR &1 98 3701 UG Bisal g

Sub questions

Question Number : 196 Question Id : 5406267437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR T & e # S19-91 HUF Il 781 82

Options :

1. % gfe oM foq R e wneziferd 78t aar 8, O 39 fod &1 e foa =78t g S|
2. % QiepgHT 3 Faffd Jawii # § e gawr &1 23U 3reger (Tfier) & U § Al 8|
3. ¢ QAHYHT B! BTG 6 a9 § IR 3 THT I gd 1T foedm o el 5|

4. % YR T9¢ BT HUR Yo g JUT 5|

Question Number : 197 Question Id : 5406267438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fasbed! ® 4 TR 1 I e Sd=T:
Options :

1. * faur uReg

2. % fayrHT

3. % SYUHT

4. & AIBIHT

Question Number : 198 Question Id : 5406267439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIRIG TR & SHTIR AN THT & BB b SR TG HTUTTHTA BI BT DT Sl § A TG Bl 30BT BB B D gRI Uh
g7g # % ggMH &1 PR 5|

Options :




1. % 3HfYHdH 18 A
2. ¢ 3BT T Ty
3. % 3fOpaH o °8
4. % JHYHdH I A8

Question Number : 199 Question Id : 5406267440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRIG TR & Ugad XMeg “Hiedifora &1 =1 5 1 a1 31 g2
Options :

1. ¢ YOI

2. % qud

3. % THEBIA

4. % AT

Question Number : 200 Question Id : 5406267441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIRIG T & TR HIH-91 B Tgl 82

?pio%:mﬁmmmmwﬁﬁ,WGlnwW 3O TSl 96 U TP SRTS Ul I8 b B1dl § SUD 916 Jg Wd: HT
?Z@E;Wﬁ%ﬁwwwmﬁWWWWﬁﬁWWN%%%WﬁW 120 ¢ B
jﬂjiﬁmﬁ 38 USRI, ForAfed 3R B B o] Tgad ST G- B STIRSHT &1 R 25.1% 8, BT 129 Al THT B Hic 3fdfed
f;m:ii% U g B JYD! TAERSAT & YR W ABYH-TER fArerd 81 IaHM 8 T8 2011 B SI-H@HT IR YR 5|

Question Id : 5406267436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

3T TTQ TRIT=T T SAHYad ST B U= B @R alfoTg:



ANBIHT, HRATT TG BT el Ge g1 R T9¢ BT ST Ted I IHT § | A JHT JraHIe 9 HAUPR & YR TR ARl
GRT UIE TAd gRT g4 gU Ufa-1ert ¥ 7f3d gl 8 1 YR WiAU™ & S8R e & el &1 SfidmdH AT 552 % 81 Fabva o, forad
3 530 F& A= I o 3R 20 TG I w5 JMRI UGN BT UTIH1RIE HR Fobd ¢ | Fad B gaie Ui o) a4 ! Rufd &
%m@a‘r aﬁgxﬁaw%zuﬁrﬁfﬂﬁfﬁaﬁwm%ﬁuﬁ:ﬂamﬂw%lﬁwmaﬁmﬁsaﬁ%mgﬁmﬁ
T fo T ST Il g |
T Slch FHI BT 713 1952 H §3fT, IT THY YR AP H1UY 364 HIT & 1Y Siid SRS Hob Tl H Ugdl | SHob 1Y g1 Sfaex ardd
8 HRd & Ugel TUMH! §| T8 HRAR AP B DI AT 45 Tld=Id A el
HRA & TAD I Bl SYB! ST & SHTYR R AHIH-TeH fIed g1 IdH T B TS 1971 DI SIS TR TR & | 3T IR
AIHHT & o=l Bt I=A1 Iy 2026 A YR foar STAT | 399 Uga Ud® =& &1 SRTUAT & 3TYR R Jeg WH Fuia gid 31 g8
B 849 Tlae™ FRMEF(2001) T foam 7T o1, FOITR ST 3UAT STETE & SUR TR SA1GT ¥ SaTal R UK $HR- &1 W gl de
qHH WU H ] B SHERE & SR fadfd Wil ! W= o 3aR 3R HRd &1 Ufafferd, afénr YRd & gored 9gd A ¢
g1 SfR1UT & TR s, AReTS, 38 USRI, e 3R BRa Bl RNIb! Ja ST S Bl SHTT BT Rt 21% B, B 129 b JHT
oI W sidfed ot TR § Tafe, gad 31fiie SeRet T =t HTomh 350 IR Uew 3R S8R ! gad SHERa S & SHERe &1
25.1;%%@@@% 120 TS Bt M7 & | aTH | 3reger 3R SHid-HRT Y™ & &1 T Jewil &I fAds, Jad & Jaxd S
54581
gfe JrT T Uga 41 A1 a1 a1 81, i THT BT HRIBTA U1 Ugl 9% I Ah 3T Uid I8 db gidl § 39S §I¢ I8 Wd: HT gl
et 81 T THT & BRIGT b IR TS SMUTAHTd o1 GO HI Sl § <) TS B 39b] SRIBTd B & gRI Uh G § 3ifefdayd uh
¥ I dgM 1 fIEHR B, Tafd MMUTdwTd o1 Bvu THTE 811 &1 fRufd & 38 et oft uRfRufa & & 78 3 3iftres 7Y sgrn o g
AHTHT 3 Fafferd Tewl & T U o &1 3(U- 3rexef (W) & U H I & | BT FaTe | Segef &1 Tgradl SUTeHe gRI B
m%mmﬁaﬁaﬁﬂmésﬁaﬁawaﬂﬁ% B U H BT FaTe HT FARGIA 31edel B aIdl g | AU H AmaHT
Y& I
Gl e o1 IR T geiH UR TR 81 IUDT & BT SHb SIURRIT I TR IUTIHR dYT IHb Ut 7§l TR AT HT Dl
SURHTUIT 31aT 3 GRT AHIDd BIg Ht TR I b1 3fedef Bell & | 4 foie] 1 FeRor T el 81 S o forel iR Wity wegifbd
Tel FrcT 8, ) 39 fod & 4 foret 7t A Seem | TWiie &1 ol sifaw qut sreaert giar ¢ 19 Sadia wffaal Suat srefiaar o ord
BT & | P bl T BT TG g M TR 98 BT UG A& G| AIHTHT & [age g7 W Hf TR ug R HRiRd 3gar g1 7dH
TIHHT P A o TR B 98 3701 UG Bisal g

Sub questions

Question Number : 196 Question Id : 5406267437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS TR & gH & -1 H T8l 781 82

Options :



1. % gfe ¢ foa R Tier gregifed I8! Hal 5, @) 39 fod &) 9 f9d T8t A1 SR |
2. % AHHT U Faffd Tewdl & I U o &1 3U= 3remef (W) & U H gl 7
3. ¢ THYHT B BTG 6 I8 § T 38 THT § g HT fohat off v g |

4. % YRJTG I BT HUR T I5d IHT B |

Question Number : 197 Question Id : 5406267438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7T fyaredl ® 9 iR 1 Iferd 2o sarsy:
Options :

1. % faum uReg

2. % faumEgur

3. % STYHT

4.« AIBIHT

Question Number : 198 Question Id : 5406267439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T & TR TN HT & HTIBTA &b SR Tfe; STATTRT B BTN B STl § dl TG D1 3B BB BT & gRI Uh
g | b S¢H BT SfUPR B

Options :

1. % 3{fbad 18 AT

2. ¢ HfYHIH TH a¥

3. % 3fUHdg ©: 418

4. % 3Hfhay i+ A1

Question Number : 199 Question Id : 5406267440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SURIG TR & Ugad eg “H1eifba &1 =1 § I o1 37 g2
Options :

1. « YA



2. % Uy
3. % gHDIA]
4. % HfAfayg

Question Number : 200 Question Id : 5406267441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIRIG TR & TR HI-91 HYU T 62
?pio%:wﬁqﬂﬁlmmmwﬁﬁ,wgmwmﬁHﬁ%ﬁéﬁ@éﬁﬁﬁﬂﬁ%@ﬂ%w% ST I8 Iad: HIT
?zﬁﬁ%mm%ﬁw@wwmeﬁmwaw STREAT =T P SIS BT 21% ¢ & WA | [t 120 TS g
?Tjérflilﬂﬂg 38 USRI, FoAfed 3R B B ot Tgad SRS S Bt SRS 61 R 25.1% 8, BT 129 Al GHT 1 Wi sMdfed
?ﬁmir%mwﬁwﬁaw%aﬂmwaﬁwmwﬁaﬁ% TAHH A FG 2011 P SIS TR SURA B




